Intentional Torts
I. General Information
	A. Intentional torts have different levels of fault
		i. Levels of intent
	B. Always ask what interest is being protected?
		i. Should it be protected?
		ii. Why?
	C. Burden of proof is preponderance of the evidence
	D. Prima facie case has two elements
		i. Act – an act by the defendant
			a. A voluntary contraction of muscles
			b. R.2d § 2 “external manifestation of the actor’s will”
			c. Convulsions or other involuntary muscle spasms are not acts.
			d. Garratt v. Dailey: act was him pulling the chair
		ii. Intent – the act was done with intent
			a. R.3d (Liability for Physical Harm § 1)
1. The person acts with the purpose of producing the consequence, or
2. The person acts knowing that the consequence is substantially certain to result.
. Garratt v. Dailey: trial court erred in only using purpose for the intent element; purpose does not matter, only if he knew that the consequence of his actions was substantially certain; although he would be liable for battery at any age, it may be a defense to take into account his age when arguing whether he had the necessary intent.
II. Assault
	A. Restatement § 21. An actor is subject to liability for assault if
i. He acts intending to cause a harmful or offensive contact with the person of the other or a third person, or an imminent apprehension of such a contact, and
ii. The other is thereby put in such imminent apprehension.
	a. Defendant acted and
	b. He intended to cause either
		1. A harmful or offensive contact or
	2. Imminent apprehension of such contact with
c. With
	1. The person of the other or
	2. A third person
d. And the other is thereby put in imminent apprehension.
B. Picard v. Barry Pontiac-Buick, Inc.: “it is plaintiff’s [imminent] apprehension of injury which renders a defendant’s act compensable.”
	i. Plaintiff taking photos of defendant and he allegedly lunged at her
	ii. Fear is sufficient, but not necessary
a. Apprehension is necessary – an invasion of space; a discomfort
b. The plaintiff may not have feared that the defendant would harm her, but she at least apprehended that he would come toward her and invade her space in some way.
		iii. Imminence is required
			a. Verbal threats are not enough to establish assault
C. Two types of assault
	i. Where the actor intended to cause a harmful or offensive contact
		a. Attempted (but incomplete) battery
ii. Where the actor intended to cause an imminent apprehension of such contact
	a. Threatened battery
iii. No contact is necessary for either type
III. Battery
	A. Restatement § 18. An actor is subject to liability to another for battery if
i. He acts intending to cause a harmful or offensive contact with the person of the other or a third person, or an imminent apprehension of such a contact, and
ii. Harmful or offensive contact with the person of the other directly or indirectly results.
	a. Defendant acted and
	b. He intended to cause either
		1. A harmful or offensive contact or
		2. Imminent apprehension of such contact
	c. With
		1. The person of the other or
		2. A third person,
d. Harmful or offensive contact with the other directly or indirectly results.
	B. Offensive Contact
i. Comment c to § 18: “the essence of the P’s grievance consists in the offense to the dignity involved in the unpermitted and intentional invasion of the inviolability of his person and not in any physical harm done to his body.”
ii. Wishnatsky: Huey pushed the door into Wishnatsky
a. The court recognizes that individuals have a protectable interest to avoid offensive contact, not just injurious or harmful contact.
b. Although the contact may have been rude or abrasive, this is part of our social usages; there may be times in society when contact occurs unintentionally and unoffensively even if it is abrupt.
c. Offensive contact will not be found if the plaintiff is unduly sensitive.
iii. Restatement § 19: “A bodily contact is offensive if it offends a reasonable sense of personal dignity.”
a. Comment a: “it must be one which would offend the ordinary person and as such not unduly sensitive a contact which is unwarranted by the social usages prevalent at the time and place at which it is inflicted.”
iv. Picard: court finds offensive contact to be any unwarranted or unconsented touching that occurs outside of what the social usages recognize as appropriate
v. Extension of the Body Rule
a. Picard: the camera was considered to be an extension of the body to qualify for offensive contact
b. “Anything directly grasped by the hand which is so intimately connected with one’s body as to be universally regarded as part of that person.”
c. When arguing for this rule to apply: the protectable interest is the bodily integrity of the victim and the object is easily viewed as an extension of the body.
		vi. Thin-Skulled Plaintiff Rule
a. The wrongdoer is liable for all injuries resulting directly from the wrongful act, whether they could or could not have been foreseen by him.
b. You take your victim as you get him
c. The protectable interest is the harmed victim, not the intentional wrongdoer
IV. False Imprisonment
	A. Prima facie case: a plaintiff must show intent to confine and awareness
		i. Words or acts by defendant intended to confine plaintiff
		ii. Actual confinement, and
		iii. Awareness by plaintiff that she is being confined
			a. Except in cases of actual harm to children or the incompetent
	B. Confinement
i. An unlawful restraint of an individual’s personal liberty or freedom of locomotion.
ii. Unlawful restraint may be effected by words alone, by acts alone, or both.
iii. It must be against plaintiff’s will
iv. Lopez v. Winchell’s Donut House: the court finds that confinement does not require physical restraint, but the plaintiff voluntarily entered the room and could leave at any time; she merely felt intimidated and compelled to stay to protect her reputation; a lack of escape is not what establishes confinement; economic duress is never enough for false imprisonment
a. Court gives additional factors that might establish confinement:
		1. Present threats
. A present threat is one which threatens confinement.
		2. NOT just moral pressure
		3. WITHOUT consent
		4. Involuntary
			. “That the plaintiff’s will was overborne”
v. Restatement: Factors that might establish confinement
	a. Actual or apparent physical barriers
b. Overpowering physical force or by submission to physical force
c. Threats of physical force
1. If the threat is with an intent to confine then it is applicable; if the intent is to achieve a different goal, then the threats do not qualify
d. Other duress
e. Asserted legal authority
1. HYPO: employer threatens workers with deportation if do not remain at place of work
vi. There is no time requirement; if you can show confinement, it doesn’t matter if it was for ten seconds, can still prove false imprisonment
	C. Shopkeeper’s Privilege
		i. An affirmative defense
ii. If the shopkeeper has reasonable grounds to suspect that theft has occurred, they can detain the suspect.
iii. Reasonableness is a factor
	a. Had a reasonable belief
	b. Held for a reasonable amount of time
V. Intentional Infliction of Emotional Distress (IIED)
	A. Aimed at protecting one’s dignity from behavior that goes beyond
B. Restatement § 46
i. One who by extreme and outrageous conduct intentionally or recklessly causes severe emotional distress to another is subject to liability for such emotional distress, and if bodily harm to the other results from it, for such bodily harm.
	a. Defendant engages in extreme and outrageous conduct
	b. And intentionally or recklessly causes
	c. Severe emotional distress to the plaintiff.
C. Womack: first impression case and so established the three elements from the Restatement; Womack could not show that there was any physical injury; forced to become a part of a child molestation case with which he had no actual involvement
D. Extreme and Outrageous
i. Intolerable and it offends against the generally accepted standards of decency and morality.
ii. This requirement is to limit frivolous lawsuits and avoiding litigation in situations where only bad manners and mere hurt feelings are involved.
	E. Intentional or reckless
i. Wrongdoer had the specific purpose of inflicting emotional distress or where he intended his specific conduct and knew or should have known that emotional distress would likely result.
	a. Intentional: wrongdoer had the specific purpose
b. Substantial certainty: he intended his specific conduct and knew that emotional distress would likely result
c. Reckless: he intended his specific conduct and should have known that emotional distress would likely result.
1. R.2d Reckless Standard: the wrongdoer acts in deliberate disregard of a high probability that emotional distress will follow.
Tort law is different from criminal standard; it is not just “should have known,” but intent to act remains; otherwise would simply be negligence
2. Womack: Reckless is included because we are thinking about the plaintiff’s interest in tranquility and protection from emotional disturbance.
ii. Continuum of intent:
	a. IntentionalSubstantial certaintyRecklessNegligence
	F. Severe Emotional Distress
		i. Manifestation of physical symptoms generally not required.
ii. BUT R.2d § 46, Comment j: “proof of emotional distress… more than trifling, mere upset, or hurt feelings generally is required.”
iii. All of the elements in IIED work together; therefore if the symptoms are somewhat lacking, the outrageousness or intent can help support a cause of action
	G. IIED vs. Title VII Claim (Sexual or Racial Harassment)
i. Advances are made on P, but she does not suffer severe emotional distress
	a. No IIED claim, but could bring Title VII
ii. D knows P is offended by pornographic material and is mentally unstable.  D invites P into his office and shows her.
	a. No Title VII claim, but would have an IIED claim
VI. Defenses
	A. Affirmative Defenses
i. Defendant usually has the burden of proving each element of the defense.
ii. Successful defenses usually, but not always, defeat the entirety of the plaintiff’s claim.
iii. Defenses ordinarily triggered only if the plaintiff has established a prima facie case of tort liability.
iv. Expanding the circumstances under which a defendant may assert a defense necessarily cuts back on the circumstances under which the plaintiff may obtain recovery.
B. Insanity is NOT a defense in torts because the protectable interest is that of the tort victim which outweighs any possibility of an insanity defense.
	C. Consent
		i. Can be express or implied
a. Express consent: refers to an objective manifestation of an actor’s desire
b. Implied consent: the person acted in a manner which warrants a finding that she “consented” to a particular invasion of her interests.
1. O’Brien: implied consent by being in line to receive vaccinations.
ii. Hart v. Geysel: affirmative defense that there was a voluntary participation in the illegal fight
a. Policy concern regarding the illegality of the fight; this policy overshadows the idea of consent in this case; the court does not want to reward unclean hands and does not find the defendant liable
1. There is an issue of wrongfulness and so recovery cannot be sought
b. Mutual Combat in Anger
1. Majority rule: no defense if both parties mutually engage in combat in anger with one another
2. Minority rule: If one can demonstrate there was excessive force or malicious intent to do serious injury upon the defendant then can raise a consent defense.
c. Context is important to determine and define the scope of consent
1. Hackbart v. Cincinnati Bengals: injury was outside the scope of the game
		iii. Consent can be negated by duress, coercion, or fraud
	D. Self-Defense
i. A defendant is privileged to use so much force as reasonably appears to be necessary to protect himself against imminent physical harm.
	a. Acted honestly (subjective)
	b. Reasonable fear (objective)
	c. Reasonable means (objective)
ii. Courvoisier v. Raymond: court found that he was justified in raising this defense; the court finds that the mistake is also reasonable and therefore, he is allowed to raise the defense.
iii. Defense of others
a. So long as there is an honest and reasonable belief and use reasonable means can defend for the protection of others
	E. Protection of Property
i. There is no privilege to use force calculated to cause death or serious bodily injury to repel the threat to land or chattels unless there is also a threat to the D’s personal safety as to justify self-defense. (Prosser on Torts)
ii. Katko v. Briney: spring gun; there were no signs and the gun was not visible from outside the bedroom; a defendant can only use deadly force when a person’s life is being threatened; as a result, legislature barred all spring guns
	F. Necessity
		i. Two questions to consider
			a. What conditions trigger a Privilege of Necessity?
				1. Defendant must face a necessity
2. The value of the thing preserved must be greater than the harm caused.
			b. Should the privilege be “incomplete” or “absolute”?
1. Absolute necessity – any damage that is incurred is inconsequential; when one thing is astronomically more valuable than the other; will not have to pay any damages at all with an absolute defense of necessity
2. Incomplete – i.e. Vincent v. Lake Erie Transportation Co.: defendant must pay for damages, but he is not liable for trespass; if the defendant had had absolutely no control over the boat then he could have possibly had an absolute defense and not be charge with any tort liability.
ii. Ploof v. Putnam: defendant had cut the plaintiff loose in a storm, protecting his property; the plaintiff had a privilege of necessity – therefore did not trespass
iii. Big question: how much value is the thing damaged compared to the thing being protected?
iv. Public necessity: the destruction of property for the protection of the general public

Accidental Torts

Strict Liability
I. Holds a defendant liable regardless of whether the defendant is at fault
A. Hammontree v. Jenner: plaintiffs want to sue under a theory of strict liability; if the defendant is held strictly liable then he would be liable for his conduct regardless for his reasoning
i. If strict liability applied there would be no distinction between defendants who had different levels of intent; it would be unfair
B. Strict liability is applied to manufacturers because they provide to the public as a whole and should bear the costs of injuries from defective products
II. Vicarious Liability
A. Under the doctrine of respondeat superior, employers are vicariously liable for torts committed by employees while acting within the scope of their employment
	i. May want to sue the employer if the employee is insolvent
a. The employer can seek indemnification from the employee, but that often does not happen due to insolvency
ii. Christensen v. Swenson: the issue was whether Swenson was within the scope of her employment; the court applied the Brikner test and found that a jury could have found her to be; the issue was with the second element
iii. Just because an employee engaged in something that was prohibited does not mean the employer is not vicariously liable
B. Scope of Employment (Birkner Test)
i. The employee’s conduct must be of the general kind the employee is hired to perform
ii. The employee’s conduct must occur substantially within the hours and ordinary spatial boundaries of the employment
iii. The employee’s conduct must be motivated, at least in part, by the purpose of serving the employer’s interest.
	C. Apparent Authority
i. Apparent authority is authority which a principal knowingly tolerates or permits, or which the principal by its actions or words holds the agent out as possessing.
ii. Elements
	a. A representation by the purported principal;
	b. A reliance on that representation by a third party; and
c. A change in position by the third party in reliance on the representation
iii. R.2d: “One who employs an independent contractor to perform services for another which are accepted in the reasonable belief that the services are being rendered by the employer or by his servants, is subject to liability for physical harm caused by the negligence of the contractor in supplying such services, to the same extent as though the employer were supplying them himself or by his servants.”
a. This is a more favorable test for the plaintiff; it is a broader standard than that used by the court in Roessler
iv. Non-delegable Duty
a. Suggested by concurrence in Roessler as an alternative way of finding liability
1. Feels that the apparent authority test is too arbitrary and case specific; there should be a more defined rule; with the current rule, a representation is so fact specific that one jury can determine that it was made while another may not
	b. Some duties are non-delegable to independent contractors
c. The employer of an independent contractor is vicariously liable for work that involves a peculiar risk if the contractor fails to take appropriate precautions in light of the risk
		v. Roessler v. Novak: invokes the question of who is the employee?

Negligence
I. R.2d § 282: “Negligence is conduct which falls below the standard established by law for the protection of others against unreasonable risk of harm.”
	A. Negligence refers to both the cause of action and the conduct in question.
B. It is a failure to exercise ordinary due care that a reasonable person would exercise.
II. A system that is based on fault
	A. Distinguishable from strict liability
B. In order to hold a defendant liable, that defendant had to have done something wrong and the conduct is blameworthy
i. Holmes: only fair to hold someone liable if she is at fault; otherwise the plaintiff should incur the losses
a. We want to hold blameworthy conduct liable because it is fair
ii. Posner: (economic analysis) asks what is most economically efficient, to hold the plaintiff or the defendant liable?
a. If they are at fault, it gives an opportunity to weigh the costs and benefits of their actions
b. Tied into this is deterrence.
1. If a defendant will incur losses, they may take extra precautions to be sure that they don’t injure the plaintiff with their conduct
2. With strict liability there would be no deterrence factor; no matter what the defendants did, they would be liable for it
	C. Justifications for a fault principle
		i. Corrective Justice/Fairness
a. Holmes’ argument; it’s not necessarily fair to hold defendants liable if they did something wrong unintentionally or something that was not wrongful
1. Brown: defendant prevails as it is only fair to hold people liable for behavior where they are at fault
	ii. Economic efficiency
a. It is most cost effective to let the plaintiff pay for the damages when neither party is at fault
		iii. Historical perspective
a. Before the Industrial Revolution there was no explicit requirement of fault for a plaintiff to recover.
1. Any requirement of fault in a plaintiff’s lawsuit must have been implicit
. Trespass: any tort where one directly caused an injury to another individual
	I. No inquiry of intent
II. Brown v. Kendall: (dogs were fighting and defendant injured plaintiff’s eye with stick) should the plaintiff be held liable if not at fault? Supreme Court found that the BOP was on the plaintiff to prove that the defendant did something wrong; here neither party was found to be failing to exercise due care and so the defendant prevailed.
A. Plaintiff can only prevail if he was exercising ordinary care the defendant was not; all other scenarios would lead to a win for the defendant
ß. Action in Case: injuries inflicted indirectly
I. Catchall system for any injuries that were received indirectly
II. Ex. tree falls over and then later in the day a plaintiff comes along and hurts himself on it
		iv. Other explanations
a. Deterrence: can apply to both fairness and economic efficiency theories
b. Compensation: can apply to both fairness and economic efficiency theories.
III. Four elements for a prima facie case
	A. Duty
i. A defendant owes a general duty to act with reasonable care to everyone in society not to create unreasonable risks of harm to others.
	B. Breach
i. A defendant breaches that duty when, judges form the perspective of a reasonably prudent person in the defendant’s position, the defendant fails to act with reasonable care in creating an unreasonable risk of harm to another.
	C. Causation
		i. Cause in fact
		ii. Proximate cause
	D. Damages
IV. Rules vs. Standards (used in determining the due standard of care)
	A. Rules
		i. Positives
a. Certain and predictable
			b. Advance notice
			c. Easily administered
		d. Limits judicial discretion
	ii. Negatives
		a. Inflexible
		b. Unrealistic
		c. Too many variables
		d. Too many exceptions
B. Standards
	i. Positives
		a. Case-by-case
		b. Flexible
		c. Develops over time
		d. Reflects community norms
	ii. Negatives
		a. Meaningless
		b. No notice
		c. Wide judicial discretion
		d. Arbitrary enforcement
	iii. Negligence is based on a standard
		a. The standard of care that is due under the circumstances
V. Duty
	A. General Duty
i. A defendant owes a general duty to act with reasonable care to everyone in society not to create unreasonable risks of harm to others.
ii. Default rule
a. This means that generally if you haven’t created the risk of harm, then no affirmative duty to rescue another person in harm’s way
		iii. R.3d Proposed Final Draft No. 1 § 7. Duty
a. An actor ordinarily has a duty to exercise reasonable care when the actor’s conduct creates a risk of physical harm.
b. In exceptional cases, when an articulated countervailing principle or policy warrants denying or limiting liability in a particular class of cases, a court may decide that the defendant has no duty or that the ordinary duty of reasonable care requires modification.
1. Exception: Moch: failed to provide water pressure and the plaintiff’s warehouse burnt down
. The court found there was no duty required because the failure to provide water pressure was “nonfeasance,” parties were not in privity, and “enlarging the zone of duty would unduly extend liability.”
I. Cardozo found that inaction merely withheld a benefit (nonfeasance); this was not a case conduct would prevent an injury (misfeasance)
2. Strauss v. Belle Realty: plaintiff slipped on staircase during power outage under the control of Con Ed who was contracted with plaintiff’s landlord, but not directly with plaintiff
. No duty due to crushing liability (public policy grounds), there was no duty owed to third parties
ß. “While the absence of privity does not foreclose recognition of a duty, it is still the responsibility of courts to limit the legal consequences of wrongs to a controllable degree and to protect against crushing exposure to liability.”
∂. “In fixing the bounds of duty policy plays an important role.  The courts’ definition of an orbit of duty based on public policy may at times result in the exclusion of some who might otherwise have recovered for losses or injuries if traditional tort principles had been applied.”
	B. Misfeasance v. Nonfeasance
		i. Misfeasance – actively causing harm to another
a. Most cases of negligence, whereby D’s conduct results in another’s injury
b. Can be by omission or action
		ii. Nonfeasance – passively allowing harm to befall another
			a. Few cases of negligence
1. The court must invoke a duty when there is otherwise no duty
2. A new duty can be crafted when public policy demands it using the Rowland test
			b. Liability imposed only where an exception applies
			c. Ex. Walking by a child when it will be hit by a train
				1. Your presence does not make the situation any worse
	C. Duty to Rescue
		i. Arguments in favor of a duty to rescue
			a. Tort law is based on reasonable care to prevent harm
b. It would be good for society because it would help protect people (utilitarian)
1. Maximize social welfare and utility if incentives were placed on easy rescue
c. Legislatures have sometimes encouraged a duty to rescue
	1. Good Samaritan laws
d. Economic efficiency – imposes little cost to the rescuer and saves a life
e. Public policy – we would like to live in a society that lives by strong morals; the laws should reflect social norms and morals
		ii. Arguments against a duty to rescue
			a. Autonomy / liberty interest of actor
1. Concern about the protection of the rescuer; careless rescues may put the rescuer in danger
2. One has the right to act as he so chooses
b. Slippery slope in defining obligation / where do we draw the line?
1. Would be an increase in litigation and difficult to determine who should and should not be liable
c. Uncertainty of what to do / potential liability if you act
d. It’s the government’s responsibility to protect people
e. Better to create incentives for people to watch out for themselves
f. Shouldn’t be liable for something you didn’t do
g. Duty to rescue would create extreme vigilantism
h. Takes away from acts of true heroism
i. Detracts from those truly responsible for the injury
		iii. General rule is you have no duty to rescue
a. Courts are reluctant to extend liability to third parties for doctors
		iv. Exceptions to “no duty to rescue”
			a. Affirmative duties
1. Either you’ve put someone in harm or a special relationship exists
			b. A special relationship exists
1. Common carriers, innkeepers, possessors of land open to public; and
. Harper: common carrier, innkeeper, possessor of land open to the public, custody + deprived of normal opportunities for self-protection.
I. The court found that Harper was not deprived of any normal opportunities of self-protection and Herman had no duty to warn
2. Persons who have custody of another person under circumstances in which that other person is deprived of normal opportunities of self-protection
. Prosser: plaintiff is vulnerable and dependent on defendant, who holds power over P’s welfare.  Economic advantage to the D.
ß. Harper: no such custodial relationship found
3. Social companionship: co-venturers
. Farwell: companions on a social venture, with an implicit understanding that assistance will be rendered
4. Tarasoff: patient therapist relationship creates a duty to warn a third party (a case of nonfeasance as the defendant did not do anything to increase the risk of harm to Tatiana).
. “The courts have increased the number of instances in which affirmative duties are imposed, not by direct rejection of the common law rule, but by expanding the list of special relationships which will justify departure from that rule.”
I. In order to find the defendant liable, it was necessary to find a special relationship to invoke duty
ß. R § 315. A duty of care may arise from either
I. A special relation between the actor and third person which imposes a duty upon the actor to control the third person’s conduct, OR
II. A special relation between the actor and the other which gives to the other a right of protection.
∂. When a therapist in fact determines or should have determined that a patient presents a serious danger of violence to a foreseeable victim
	I. Professional standard
II. Foreseeability becomes the most important factor in this new relationship duty
π. The therapist of that patient has a duty to use reasonable care to protect the intended victim against such danger.
	I. Reasonable person standard
II. The therapist must warn the victim and tell authorities
Ω. The court was able to reach the conclusion that they did based on precedent:
I. Duty of hospitals to control dangerous patients.
II. Parents have a duty to warn a babysitter of child’s behavior; sheriff to warn of release of a dangerous prisoner; state to warn foster parents of dangerous ward
III. A doctor must warn a patient if the patient’s condition or medication renders conduct like driving dangerously.
IV. Contagious diseases, doctors may have a duty to members of the family.
					∆. Counterarguments; policy concerns
I. Predictions of violence are unreliable; inaccurate warnings may be seen as defamation of the patient and can upset the well being of the incorrect victim; could lead to more patients being committed; increases the stigmatization of the mental health population
A. Concurrence/Dissent focuses on this; therapists should not be held to a standard they cannot achieve
II. Patients need to trust therapists; if they cannot then they may be deterred from seeking the help that they need
III. Releasing information violates principles of patient/client confidentiality.
A. Court cites the Evidence Code to establish that there is legislative support that allows a breach of confidentiality when there is a serious thing at issue
µ. Suicide is not subject to these rules; no obligation to warn parents
			c. Non-negligent injury
1. When D negligently (or innocently) injures another, then D has a duty to take reasonable care to prevent further harm.
			d. Non-negligent creation of risk
1. When D innocently creates a risk, and then discovers it, D has a duty to take reasonable steps to prevent the harm from occurring.
			e. Voluntary assumption of assistance by D
				1. Commenced rescue
. R.2d § 324.  D has a duty where D takes charge of one who is helpless, and 
I. Fails to exercise reasonable care to secure the other’s safety while in D’s charge; OR
II. discontinues aid or protection and by doing leaves the other in a worse position.
ß. R.3d requires D to exercise reasonable care in discontinuing aid
2. Farwell: “there is a clearly recognized legal duty of every person to avoid any affirmative acts which may make a situation worse.”
. “If the D does attempt to aid him, and takes charge and control of the situation, he is regarded as entering voluntarily into a relation which is attended with responsibility.  Such a D will then be liable for a failure to use reasonable care for the protection of the P’s interests.  Where performance clearly has begun, there is no doubt that there is a duty of care.”
ß. Appears to apply a combination of both R.2d and R.3d rule
3. Some jurisdictions require a worsening of the situation for liability to be applied
	D. The “Rowland” Test
		i. Balancing of a number of considerations
			a. Foreseeability of harm to the plaintiff
				1. Designated as the most important factor in Randi W.
			b. Degree of custody that the plaintiff suffered injury
c. Closeness of connection between the defendant’s conduct and the injury suffered
d. Moral blame attached to the defendant’s conduct
e. The policy of preventing future harm
f. The extent of the burden to the defendant and consequences to the community of imposing a duty
g. The availability, cost, and prevalence of insurance.
ii. Randi W.: “The writer of a letter of recommendation owes to third persons a duty not to misrepresent the facts in describing the qualifications and character of a former employee, if making these misrepresentations would present a substantial, foreseeable risk of physical injury to the third persons.”
a. “In the absence, however, of resulting physical injury, or some special relationship between the parties, the writer of a letter of recommendation should have no duty of care extending to third persons for misrepresentations made concerning former employees.”
1. “In those cases, the policy favoring free and open communication with prospective employers should prevail.”
b. Liability may be imposed if the letters of recommendation amounts to an affirmative misrepresentation presenting a foreseeable and substantial risk of physical harm to a third person
c. A duty issue arises because this is a case of indirect injury
d. The scope of negligent misrepresentation including a non-direct victim does not work if there is no reliance by the plaintiff (Garcia)
1. Here, the court cannot use reliance and so they have to create a new standard to create the school district’s duty.
	E. Statutes
i. One way to invoke a duty is through a statute by implying a private right of action
a. Usually statutes do not allow tort litigation unless expressly stated
		ii. Distinguishing roles of statutes in tort law
a. Does the statute expressly create a cause of action for damages?
b. Does the statute implicitly create a private cause of action?
	1. Uhr v. East Greenbush Central School District
c. Does the statute acknowledge policy considerations that would lead a court to create a common law duty?
	1. Tarasoff
d. Where a common law duty already exists, can the statute be used to establish the standard of care?
	1. Martin v. Herzog
		iii. Private right of action
a. Was the statute intended to protect a class of people from a particular type of harm?
b. Would a civil remedy promote the legislative purpose?
c. Is a civil remedy consistent with the legislative scheme?
1. Public and private avenues of enforcement do not always harmonize with one another
2. Scheme has to do with the legislature implementing different means of enforcement
d. Uhr: plaintiff used this theory as there was not an easy way to find a common law duty; although the school failed to comply with the statute, the court was unwilling to find a private right of action noting that the civil remedy was inconsistent with the legislative scheme
1. Courts are usually reluctant to infer a private right of action especially when the defendant is a government agency
	F. Duties Owed to Third Parties
		i. Indirect injury
			a. Randi W.: creates a new relationship using the Rowland test
	ii. Duties of Non-Parties to Contract
a. MacPherson: A duty was found as the injury was foreseeable; no privity was required.
b. Moch: no duty was found as it was an act of nonfeasance, the parties were not in privity, and enlarging the zone of duty would unduly extend liability.
c. Strauss: duty was limited to those in privity because of crushing liability
d. Palka: there is a duty if there is a direct and demonstrable reliance by a known and identifiable group
	1. Fan fell on nurse in hospital
e. Pulka: no duty was found as there was no special relationship and no reasonable opportunity to control conduct of the tortfeasor, AND boundless liability.
	1. Garages having liability over patrons leaving
f. Strauss v. Belle Realty: the court recognizes that there probably is a general duty on the part of Con Edison, but does not find liability due to crushing liability that would result; not economically, but social utility – may force it out of business and would no longer have electricity supplied; court uses privity to draw an arbitrary line
		iii. Social hosts
a. Reynolds v. Hicks: bride and groom provided alcohol to their minor nephew who drove while intoxicated and injured a third party in an accident
1. The court found no duty was owed by social hosts to third parties
2. Commercial vendors, however, do owe a duty to third parties
3. The plaintiff wanted to expand the statute to third parties under civil liability; they argue that the statute imposes a duty on the defendant as it determines a duty of care
			b. Distinguished from commercial vendors
1. They are in the business of selling alcohol and better equipped to deal with it; therefore they have a heightened duty from that placed on a social host
2. States have enacted “dram shop acts” that impose liability to commercial vendors who serve intoxicated persons and then allow them to drive on the road
		iv. Negligent Entrustment
a. A defendant who supplies a chattel, has a duty to not let it fall into the hands of another, whom the defendant knows or should know, may use it in a manner involving unreasonable risk of physical harm to himself or third persons
1. Typical cases: lending your car to an intoxicated driver or allowing your gun to be borrowed by someone likely to misuse it.
. General rule is that the sale terminates responsibility of a seller
	I. Knowledge is an exception to this
2. NOT limited to cases where defendant owned or controlled the instrumentality.
3. Sometimes there can be NO duty even where a defendant did own or control the instrumentality
4. Not so much an affirmative duty, but more of a breach of general duty by increasing the harm of allowing a drunk driver
b. Things that facilitate the negligent behavior, but not a direct cause of the harm
c. Vince v. Wilson: found that the aunt did have a duty under this theory to the plaintiff who was injured by the driving of her grandnephew; as did the salesman of the car
d. Key in the ignition cases are dependent upon where, when, how long the vehicle is left unattended; genereally not liable, but foreseeability can impose a duty
	G. Landowners to Occupiers
		i. Traditional common law approach
			a. Determine the plaintiff’s status
				1. Invitee
. A business visitor: enters land with permission (express or implied) for a purpose directly or indirectly connected with possessor’s business
ß. A public invitee: enters land open to the public for a purpose for which the land is held open to the public.
				2. Licensee
. Enters land with permission (express or implied), but NOT for a business purpose that serves the owner/occupier
ß. Includes social guests
				3. Trespasser
. Enters land without permission and whose presence is either unknown or objected to if known
b. Determine the precise duty that attaches to an entrant with that status
1. Invitee: duty to exercise reasonable care to make safe or warn against both known dangers and those that would be revealed by reasonable inspection
. Landowner must protect from open and obvious dangers as well
2. Licensee: duty to warn against known, non-obvious dangers
. Exception: with regard to activities, a licensee is owed the same care as that given to an invitee
ß. Does not need to protect from open and obvious dangers
3. Trespasser: no duty to protect or warn against dangers.  Duty only to avoid willful misconduct or reckless disregard of safety.
. Exception: R.2d § 339. Attractive Nuisance Doctrine
		I. Duty to trespassing children
II. When artificial condition causes physical harm
III. Possessor knows or has reason to know children will trespass
IV. Possessor knows or should realize the condition creates an unreasonable risk of death or serious harm to children
V. Children did not discover or realize the risk
VI. Balance of utility and risk supports eliminating condition
VII. Possessor failed to exercise reasonable care
c. Carter v. Kinney: court found that Carter was a licensee and therefore, Kinney did not owe a duty for things of which he was unaware
d. Benefits of this approach are predictability, protection of landowner from liability and right to privacy
		ii. The Rowland Approach (used by Heins Court)
a. A person in possession of land owes a duty to use reasonable care in the maintenance of their premises for the protection of lawful visitors.
b. Plaintiff’s status does not determine the duty that the landowner owes to him or her, BUT they remain relevant in determining the foreseeability of the harm under ordinary negligence principles.
c. Heins v. Webster County: the court ameliorated the traditional categories allowing Heins to recover from the hospital; focuses on foreseeability as the primary factor
		
VI. Breach
	A. Questions to ask
		i. What is reasonable care?
a. Adams: discussed here as to what standard the trolley company should be held
		ii. What is the reasonably prudent person?
		iii. How do judges and juries influence meaning of reasonable care?
		iv. What’s the role of custom in establishing reasonable care?
		v. What’s the role of statutes in establishing reasonable care?
	B. Balancing Approach – Hand Formula
i. Similar to an economic approach in that it is a cost-benefit analysis and the algebraic nature of the formula implies that we are able to put monetary values on these concepts
a. Posner likes this approach because it creates a clearer standard and leads to less arbitrary outcomes.
b. If we don’t have numerical values, we intuit the varilables
ii. A defendant is negligent when defendant fails to take precaution (B) and B < PL, and the party fails to take the precautions B.
a. B = burden of taking adequate precautions, including alternatives
b. P = the probability of injury
c. L = the expected harm
1. Greene: tripped over the mechanic’s leg; the injury was minimal and this needs to be taken into account when deciding on the necessary due standard of care
iii. When B > PL, defendant is not negligent for failing to take precaution B.
	a. This indicates that the defendant has taken reasonable care.
iv. Balancing considers
	a. The foreseeability of the harm (~P)
	b. The magnitude of the harm (~L)
	c. Social utility of defendant’s behavior (~B)
		1. Or a new factor that must also be considered
v. Adams: the trolley provides a social utility and the task of covering the wires that were under the bridge (also without the harm ever having occurred in the past) would be unduly burdensome on the defendant.
a. Cannot just outlaw the technology for the trolley because of the cost-benefit analysis of having trolleys in society vs. a child swinging a wire around
1. The P in this case is so small that it makes PL null (regardless of what value we give to L); whatever we assign to B, it is obviously greater than zero and therefore greater then PL.
b. Here it was impossible for the defendant to take any precautions so the plaintiff loses
vi. Braun: worker was injured by a wire which had become uninsulated over the years; Cardozo found that there was a duty owed to the plaintiff as the likelihood of the plaintiff being injured under these circumstances was foreseeable (unlike in Adams where foreseeability was lacking)
vii. Carroll Towing Co.: the bargee was not on the boat and it became loose, ran into a tanker whose propeller punctured a hole in it, and it sank along with its cargo
a. B = the bargee staying on the boat; P = the probability that the accident would occur; L = the loss of the boat and its cargo
b. Here, the court found that B < PL and therefore the required standard of care was not taken; the bargee was found to have been negligent
		viii. Limitations of the Formula
a. The most economic result may be to do nothing and look at the costs incurred through tort litigation versus the cost of preventing the damage
b. Many external costs are not taken into account through such a simplified method of determining costs
1. Personal injury is not taken into account; it is difficult to quantify
c. If a defendant is looking at such an approach in deciding what measures to take, their actions may even be viewed as reckless rather than merely negligent
		ix. Alternative Approach: Substantial Risk
a. Bolton: if the cricket game did not pose a substantial risk to the people walking by then the defendant should prevail
b. It suggests that if the event always poses a substantial risk, the defendant will always be found to be liable.
c. Substantial can be ambiguous
1. Must look at the impact of preventing the substantial risk.  If the social utility outweighs the risk, then the defendant should not be found liable
. Even if something injures another, the social utility may be greater and society may choose to live with such a risk
	C. Reasonably Prudent Person
i. Did the party act as a reasonable person would under the circumstances?
a. Must care for others with the attention, knowledge, and judgment that society requires so as not to increase risk of harm to others
ii. Applies to a party’s conduct and judgment
a. An objective test that applies to the party’s conduct, not his state of mind
1. Can take into account circumstances of the case which may particularize an assessment to certain facts, but it is still an objective test.
2. Because it is an objective test, it allows negligence to be a legal rather than moral standard.
b. The defendant cannot use his state of mind as a way of absolving himself from liability; a reasonably prudent driver would not act the way the defendant acted (i.e. running a red light).
iii. R.2d § 283(b). A hypothetical person who exercises those qualities of attention, knowledge, intelligence and judgment which society requires of its members for the protection of their own interest and the interests of others.
iv. Why is it so widely accepted?
	a. Administrative ease
	b. Deterrence goals
	c. Holmesian community norms justification?
v. Modified under:
	a. Instances of physical handicap (i.e. blindness)
		1. Limited to visible physical handicaps only
b. When children are engaged in children activities, they are assessed with regard to their age and abilities
	1. Not adjusted for children performing adult activities.
. Dellwo: twelve year old driving a motorboat; was charged as an adult because engaged in an adult activity; the plaintiff cannot tell that he is a child when he is engaged in adult activities and so cannot take the appropriate precautions; it is therefore treated under the RPP standard
c. The test is NOT adjusted for mental deficiencies
	1. They are too broad and difficult to assess/easy to fake
2. Transitory physical illnesses (i.e. stroke) are treated the same as are mental deficiencies
			d. Superior Attributes
1. Under § 289(b) a person is expected to exercise superior attributes that he possesses
. This applies in the professional context (i.e. the race car driver when he is racing, not driving on the roads normally)
2. Argue that the RPP test already takes into account this higher knowledge
3. Doctors in the medical context are held to this higher standard, even when not specifically at work
vi. Bethel v. NYC Transit Authority: plaintiff injured on a bus when wheelchair accessible seat broke; the reasonable person standard takes into account all the circumstances; it is an objective test and therefore there is no need to hold the common carriers to a higher standard; the facts are already taken into account when applying the RPP test.
a. CA still imposes a higher standard of care on its common carriers
1. The ordinary care standard takes into account all the circumstances and so being a common carrier would have already been taken into account; this renders the high standard somewhat useless
	D. Judge vs Jury in Determining Breach
		i. The modern trend has been to widen jury discretion
a. Judges can still guide juries (and limit their discretion) through jury instructions, rules of evidence, etc.
		ii. Holmes favors less jury discretion
a. Goodman: finds that the issue is undisputed and no reasonable jurors could disagree; when cases repeat themselves, judges are empowered to make decisions as if they are the law
b. Jury decisions can be inconsistent
c. Trial is more efficient without a jury
d. Judge-made decisions are more predictable so easier to comply in the future
iii. Cardozo argues that the facts of each case are important and it was not right for the answer to be made by the judge; he wants to expand jury discretion
a. Pokora: if there is always customary conduct then it would perhaps be appropriate for a judge to step in and not let the jury make the decision, but here, the directed verdict was improper
b. Seems to be reversing Holmes’ decision Goodman, but could argue that there are distinguishing facts which do not make this an overruling case.
	E. Custom
		i. Safety standard within the industry
a. In order for the court to adopt a custom as the standard, it must be relevant to the particular case
1. Levine v. Russell Blaine Co.: if the plaintiff could show that the purpose of the customary use of the smooth rope was to avoid the type of injuries she had experienced, the evidence of custom was admissible
b. However, if an entire industry has failed to adopt certain safety measures, the defendant is NOT allowed to argue that they were performing under custom to avoid liability
1. It is not the only factor to take into account when determining reasonable prudence
		ii. Can be used as a sword or a shield
a. Can be a very powerful evidence tool as to what constitutes reasonable care
1. Deviation from a relevant safety custom can serve as evidence of negligence
2. Compliance with a relevant safety custom can serve as evidence of due care.
3. It is not dispositive, only evidence
4. It can justify a judge-made rule about what constitutes reasonable care
iii. Trimarco: court held that the applicable custom of replacing the shower door with safety glass was that the landlord had to be put on notice; it was not necessary that it automatically be charged; he therefore had not violated the due standard of care to the plaintiff
	a. The plaintiff’s argument of custom was the wrong one
	F. Statutes
i. One way of establishing breach is through a statute by showing that a defendant’s violation of a statute breached the relevant standard of care.
a. A violation of a statutory standard can show that the defendant did not act with the necessary standard of care.
b. A statute may give an explicit right of action or it may be implied
1. If it is implied then need to do a negligence per se analysis
c. Courts can defer to legislature for the standard of conduct, but they are the last arbiters
ii. Negligence per se
a. Violation of the statute is negligence, not just evidence of negligence
1. This is not strict liability however; still need to determine causation between the statutory violation and the injury that occurred.
2. Can be absolved of negligence if the defendant has an excuse for violating the statute
b. An actor is negligent if, without excuse, the actor violates a statue that is designed to protect against the type of accident that the actor’s conduct causes, and if the accident victim is within the class of persons the statute is designed to protect.
	1. No excuse
	2. The actor violates a statute
3. The statute was designed to protect against the type of accident the actor’s conduct causes, and
4. The accident victim is within the class of persons the statute is designed to protect.
			c. Statutory Purpose Doctrine
				1. Where court interpretation of the legislation comes in
. De Haen: could argue that the statute is not relevant because its purpose was to protect people who might fall in the hole, not those below; Cardozo interpreted a broader purpose of it was instead to create a safe construction site in general.
2. Limits the number of cases under which parties may utilize statutory violation to prove an actor’s negligence
3. Limits the utility of “borrowing” the statutory duty.
d. Excuses (R.3d § 15). The actor’s violation of a statute is excused and not negligent if
1. The violation is reasonable in light of the actor’s childhood, physical disability, or physical incapacitation;
2. The actor exercises reasonable care in attempting to comply with the statute;
. Bassey: electrical failure in the car and, in trying to comply with the statute, attempted to fix his lights and was hit
3. The actor neither knows nor should know of the factual circumstances that render the statute applicable;
4. The actor’s violation of the statute is due to the confusing way in which the requirements of the statute are presented to the public; or
5. The actor’s compliance with the statute would involve a greater risk of physical harm to the actor or to others than noncompliance.
. Tedla v. Ellman: the plaintiffs were walking a the direction opposite as that instructed by the statute; the court found that the purpose of the statute was for the safety of pedestrians and the plaintiffs were conducting themselves in a safer manner than the statute prescribed given the circumstances.
			e. Licensing Statutes
1. Generally not applicable in the negligence per se doctrine (unless looking at a malpractice suit)
. If someone without a license gets in an accident, we will not apply the statute because it still requires a breach of ordinary care to lead to injury
f. Regulatory Standards
1. Edwards v. Basel Pharmaceuticals: compliance with regulations (FDA in this case) is not a defense to negligence; they have still violated the standard of care regardless of compliance
g. Martin v. Herzog: (headlights were not on which is a violation of the statute requiring them to be on) trial court instructed that the violation was evidence of negligence; Cardozo finds that should have been given a negligence per se instruction
	G. Proving Breach
		i. Circumstantial evidence
a. Indirect facts that are presented to persuade the fact-finder to infer other facts or conclusions
1. This type of evidence is what is used most often in torts; there is rarely direct evidence
2. Such as a slip and fall case – usually no direct evidence of how long the defendants had been negligent; if it was possible that they weren’t aware or couldn’t have been aware
. Negri v. Stop and Shop Inc.: the plaintiff was able to gain enough circumstantial evidence for at least a prima facie case that the stop and shop would have had constructive notice of the mess and were therefore negligent in their duty to clean it up
			b. From it, we can infer negligence
1. Speculative evidence is evidence that is not enough to infer negligence
. Gordon v. American Museum of Natural History: no circumstantial evidence was found to infer negligence, all speculative
I. Constructive Notice: a defect must be visible and apparent and it must exist for a sufficient length of time prior to the accident to permit defendant’s employees to discover and remedy it.
c. May seem unfair to defendant, but we want to give the plaintiff relief; that is the protectable interest; it would be a very serious disadvantage to a plaintiff if he were required to produce direct evidence; most suits would never get to trial
d. Business Practice Approach
1. If it is reasonably foreseeable that something will invite harm to the invitees then no constructive notice is required; a plaintiff neither has to show that the knew nor that he should have known about the hazardous condition; notice is assumed if the industry is under the business practice rule
2. Unlike strict liability in that it requires the defendant foresaw the risk and the plaintiff still has to prove negligence; this makes it easier, but does not make the defendant automatically liable
3. If the defendant can show that he did take measures to prevent the harm then they will not be found negligent
		ii. Res ipsa loquitur
a. Special evidentiary rule within negligence law that infers breach based on circumstantial evidence
1. Can infer negligence just based on the fact that the accident happened.
2. The accident infers a breach without the plaintiff showing specific evidence of negligence
3. This provides a way for the plaintiff to be compensated when there is not a way they can access the evidence (defendant is in a better position to produce the required evidence) and would otherwise be left uncompensated
. If the plaintiff has evidence of conduct, then the defendant would argue that res ipsa loquitur should no longer apply; its function no longer exists
b. Elements
1. The accident must be of a kind which does not occur in the absence of someone’s negligence
2. The instrumentality alleged to have caused the plaintiff’s injury was within the exclusive control of the defendant; and
3. The accident was not due to any voluntary action or contribution on the part of the plaintiff.
c. Byrne v. Boadle: barrel fell from the window and injured the plaintiff; originally found that there was no evidence of negligence; court reversed finding that the event was one where the only way it could take place was if there had been a negligent act by the defendant
d. Once it is applicable, the weight it receives depends on the jurisdiction (but the procedural result is the same regardless – once it applies, negligence is presumed)
	1. Majority: Permissible inference
. Jury is permitted to infer negligence from the circumstances of the accident, but need not
	2. Minority: Rebuttable presumption
. Jury must presume negligence and defendant must rebut with sufficient evidence to not be held liable
e. Ybarra v. Spangard: six defendants in the plaintiff’s case of suffering paralysis after an appendectomy; this case demonstrates the scope of this doctrine 
	1. Reasons for application of the doctrine in this case:
. Deterrence – may make doctors more aware of what their colleagues are doing and try to prevent negligence of one since now they all could automatically be held liable
ß. Efficiency – rather than having indemnification suits or several suits by the same plaintiff, can find all liable here
∂. Fairness – the defendants have access to all the evidence, the plaintiff has no way of knowing since he was unconscious.  Therefore it makes sense to shift the burden to the defendants.  Without this doctrine, the plaintiff could never be compensated for his injuries.
π. Medical profession is known for its conspiracy of silence.
2. The court gets over the hurdle of defining the instrumentality by saying that the plaintiff’s unconscious body was the instrumentality in this case
3. All can be found liable because they are not pointing the finger at any one person or event
. Had this been provided then exculpation would have been allowed
4. Courts have found that this rule should only be applied to the medical context and not extended beyond
VII. Medical Malpractice
	A. Two types of claims
		i. Medical negligence
		ii. Informed consent
iii. Both are distinct causes of action that may be brought together in one lawsuit.
	B. Medical Negligence
i. Four unique characteristics distinguish medical negligence from ordinary negligence
	a. Higher standard of care
1. Not just a reasonably prudent person, but a reasonably prudent doctor
2. Also applies when the doctor is acting as a good Samaritan, not just in the typical doctor-patient setting
	b. Custom determines the standard
1. The customary standard of care in the medical profession is not just evidence it is the standard of care that must be applied
	c. Experts establish custom
1. Used in every medical malpractice case except those that are so unbelievably obvious
	d. Experts may establish res ipsa
1. Confined to the medical context – outside of this, experts cannot be used to establish res ipsa
2. States v. Lourdes Hospital: it was argued that res ipsa is supposed to be applied to common knowledge and the testimony of experts indicates that it is anything but common; argued that within the profession the information is common knowledge and simply educating the jury on what common knowledge for the medical community is; this court allows it
3. Some states are split – minority of courts reject expert testimony for this purpose
. Plaintiffs may be incentivized to hire experts that will testify in their favor
ß. Could more easily manipulate the info for the jury
I. There is a possibility of misleading or confusing the juries
ii. Strict Locality Rule
a. Similar locality rule – a broader take on the strict
b. Due to different technologies and instruction within particular localities, a different standard of care has developed
1. May lead to a lower standard of care allowed for the defendant
iii. A national standard
a. Shelley v. Memorial Hospital: in this day and age of transportation and communication, information is widely shared and widely accessible; there is no reason why anyone should be under a strict locality standard
1. Doctors will not be able to argue that they were simply following custom in their locality; experts can be more easily accessed
2. The court states that ultimately it does not matter what standard is used; regardless the administration needs to be reasonable under the circumstances
	C. Informed Consent
i. Distinct cause of action based on doctor’s failure to obtain the patient’s informed consent to treatment.
ii. Under this doctrine, doctor has a duty to disclose to patients the material risks and benefits associated with medical procedures
a. Modern view – patient has the right to make a fully informed decision
b. Materiality is generally determined by an objective “reasonable patient” standard
1. What would a reasonable patient want to know in order to make an informed decision?
2. The objectivity of this standard is supposed to prevent patient’s ability to now say they would not have chosen a particular treatment having incurred the injury that was at risk.
3. If the doctor knows certain anomalies that are specific to the patient, he needs to take these into account when recommending procedures
4. It is not a “reasonable doctor” standard to prevent the inappropriate paternal role of a doctor; it is up to the patient to make the final decision
iii. Matthies v. Mastromonaco: while the defendant argues that he did not have to obtain consent for noninvasive procedures, the court found this to be incorrect; a patient has the right to decide regardless of whether the treatment is invasive; it is an issue of personal autonomy; no longer a battery theory, but a negligence theory
iv. Expert testimony
a. Courts are split on whether it is necessary to establish informed consent
b. The standard of the doctrine does not require experts, but they can be helpful to both the defendant and plaintiff with regard to what treatments may have been discussed and what risks may have been involved.
		v. Problems with the doctrine
			a. Proof can be difficult – he said, she said
b. Calculating damages – if a certain risk does not materialize, can a patient still pursue an informed consent claim?
1. It would have to be a dignitary interest that was violated, but calculating damages would be nearly impossible
2. Most tort reforms have been putting caps on damages
c. Causation – a patient, if injured, will always in hindsight say that she would not have chosen that procedure had she known the risk involved

Duty
Duty of Landowners to Prevent Crime
I. Obligation to take steps to prevent crime by a third party
	A. Landowner-Tenant
		i. Assault in common area
a. Kline v. 1500 Mass Ave.: L’s duty to prevent criminal harm to T and provide protective safeguards
	B. Business-Patron
		i. Robbery in parking lot
a. Posecai v. WalMart: Sam’s did not possess the requisite degree of foreseeability for the imposition of a duty; uses the balancing test to determine foreseeability as finds it to be the fairest and most efficient
ii. Although business owners are not the insurers of their patrons’ safety they do have a duty to implement reasonable measures to protect their patrons from criminal acts when those acts are foreseeable.
	a. Reasonable measures for
	b. Foreseeable criminal harm
iii. Four established tests on foreseeability
	a. Specific harm rule
1. The landowner has a duty when he is aware that a specific, imminent harm is about to befall a patron
2. Too restrictive
. Defendant has to know of a specific threat and an identifiable victim
	b. Prior, similar incidents test
1. Foreseeability is established by evidence of prior crimes on or near the premises that puts the landowner on notice of future risk
2. Too arbitrary because it is applied with different standards regarding the number of previous crimes and the degree of similarity required to give rise to a duty
. One prior incident may give rise to foreseeability when in reality there are a number of factors for that one that may distinguish
	c. Totality of the circumstances test
1. The nature, condition, location of the land, plus any other circumstances bearing on foreseeability are taken into account
2. Most commonly used approach
3. Tends to put a greater duty on landowners and has been criticized for being too broad
4. A plaintiff would find this test more favorable as would be able to argue with greater latitude
	d. Balancing approach
		1. Similar to the Hand formula
2. Seeks to address the interests of both the business proprietors and their customers by balancing the foreseeability of harm against the burden of imposing a duty to protect against the criminal acts of third persons
3. When there is a high degree of probably and foreseeable harm, the burden imposed on the landowner may be substantial
4. The high degree of foreseeability necessary to impose a duty to provide security will rarely, if ever, be proven in the absence of prior similar incidents of crime on the property
5. A defendant would find this test more favorable as he would have the ability to argue that the burden of precautions would exceed the benefit of them
6. Posecai: seems to be establishing duty and breach determination
. Argue that the judge then becomes the finder of fact and the jury’s role is taken away
		iv. Crime resistance
a. Most courts have found that there is no duty to the customers for shopkeepers to comply with robbers

Emotional Harm
I. Negligent infliction of emotional distress
	A. Common law: must include physical injury for recovery
B. Modern expansion: duty to protect against emotional harm when
	i. Emotional distress follows from actual physical injury
			a. Recognized by all jurisdictions
	ii. Emotional distress results from threat of physical injury
			a. Three traditional reasons for denying recovery
1. Not a natural and proximate result of the negligent act
2. Never allowed this kind of recovery before (common law)
3. Flood of litigation would occur where injuries could be feigned and damages would rest upon conjecture
. Not peculiar to emotional distress cases; expert testimony and rules of evidence limit this; it is difficult to meet the BOP if lying
b. Falzone v. Busch: Where negligence causes fright from a reasonable fear of immediate personal injury, and fright results in substantial bodily injury or sickness, damages for emotional distress are recoverable; her claim arises from her fear of almost being hit by the defendant’s negligent driving; court rejects long-standing precedent requiring physical impact; still needs to be in the “zone of danger” – must be a threat of physical impact on the plaintiff
1. Rationale
. Limiting recovery to cases in which there is impact or contact is arbitrary
ß. Whether fright has caused serious injury is a question of proof.
			2.  Elements
. Negligent act
ß. Causes fright from a reasonable fear of immediate personal injury
∂. Fright results in substantial bodily injury or sickness
γ. May recover if the bodily injury or sickness would be regarded as proper elements of damage had they occurred as a consequence of direct physical injury.
				3. Scope
. Does not extend to plaintiffs who witnessed near harm or harm, but did not fear for their own safety
ß. Courts have been reluctant to award recovery to large groups (plane crash witnesses) as opposed to the individual in potential car crashes
∂. Buckley: was denied recovery because no immediate impact, just fear of future disease; court does not want to open floodgates to anyone fearing they might get cancer
γ. AIDS cases are more limited; courts construct a balance in that the fear of contracting HIV must be reasonable; policy goal of education to dispel hysteria around the disease
iii. Plaintiff is a direct victim of conduct that creates an unreasonable risk of emotional distress
a. Doesn’t have to do with near or actual impact, just the plaintiff becoming emotionally distressed because of the defendant’s conduct
b. Gammon v. Osteopathic Hospital of Maine: mortician sent severed leg of wrong corpse in a personal effects bag to son of recent deceased; where defendant should have reasonably foreseen that serious emotional distress would result from his negligence, defendant is subject to liability.
		1. Rationale
. Psychic wellbeing is as much entitled to legal protection as is physical well being
ß. Limiting recovery to cases of impact, objective manifestation, etc. would be arbitrary
			2. Limits on foreseeability
					. Threshold of injury
I. Severe emotional distress is distress that a reasonable person, normally constituted, would be unable to adequately cope with
A. Some courts limit this requiring physical manifestations that are objective and medically recognizable
				ß. Unique relationship of parties
I. Hospital/mortician and family members
II. Bryan R. v. Watchtower Bible: court denied claim based on pure foreseeability for a church to protect members from sexual abuse by other members
iv. Bystander emotional harm
a. Emotional distress results from physical injury to another
b. Portee v. Jaffee: plaintiff watched her son die as rescuers tried to save him from the elevator he was trapped in
c. Portee-Dillon Test 
1. A plaintiff may recover for NIED if she proves (these are bright-line elements, not just guidelines)
. Negligence that caused death or serious physical injury to a victim
I. Cannot just be fear of or near death/serious harm
ß. A marital or intimate family relationship with the victim
I. Helps to limit floodgates/administrative concerns
II. Gay couples or domestic partners would not be able to recover
∂. Observation of the death or injury at the scene of the accident
	I. Cannot simply hear about it later
γ. Resulting severe emotional distress
2. Liability should be commensurate with the defendant’s culpability
3. Interest being protected is limited
		. Deep, intimate familial ties
	ß. Death of loved one
∂. Traumatic sense of loss that witness at the scene suffers
			d. Zone of Danger Rule
				1. Even stricter than the Portee-Dillon test
. A much smaller expansion from the Falzone test
ß. Mother in Portee would be denied recovery under this test, but she would still have a wrongful death action
				2. Under this test recovery is based on
					. Threatened physical harm to plaintiff and
					ß. Witnessing physical harm to another
			e. Indirect Emotional Distress
1. Characterizing the distress as indirect will establish the outcome
. If it is characterized as indirect, there can be no recovery as there would be no duty owed to breach
ß. Indirect harm does not place you in the zone of danger
I. This may be true even if characterized as direct harm
2. Johnson v. Jamaica Hospital: the court found that the baby who was kidnapped from the hospital was the one who suffered direct harm, not the parents
. “While it is foreseeable that parents of a child kidnapped from a hospital will suffer emotional distress, they have no cause of action against the hospital because the hospital owed no duty to them directly.”
II. Other Emotional Distress Claims
A. Damage to property leading to emotional distress
		i. Courts have generally not allowed recovery
			a. Exception in HI
				1. Seems to be a more sympathetic state for ED claims
	ii. Most courts treat pets similar to property
B. Mother’s claim of baby’s injuries when giving birth
	i. Some states treat the mother as being directly harmed
C. Loss of consortium
	i. Derived from a very patriarchal approach
		a. Now both souses have a right to this claim
ii. Split among the courts of whether children can bring such a claim for losing a parent
a. Resistance to broaden the scope of liability (many children to one parent)
		iii. Different from emotional distress claim
a. If wife heard over the phone of husband’s paralysis she would not have an ED claim
1. But has intangible losses, reliance of financial support, etc. then that could go into a loss of consortium claim
. Anything that you can put a value on for damages goes into such a claim
ß. Damages reflect the lack of companionship
III. Policy concerns for Emotional Distress Claims
	A. Fraudulent claims
	B. Proof issues
	C. Floodgate issues
	D. Commensurability
		i. Not wanting liability to exceed the culpability

Causation
I. The defendant’s conduct must be both the Actual cause, or cause in fact of the harm AND the Proximate cause of the harm
	A. R.2d § 431 What Constitutes Legal Cause
		i. The Substantial Factor Test for Causation
		ii. The actor’s negligent conduct is a legal cause of harm to another if
(a) his conduct is a substantial factor in bringing about the harm, and
(b) there is no rule of law relieving the actor from liability because of the manner in which his negligence has resulted in harm.
	B. Can be applied to any action in tort, not just negligence
	C. Must be an injury for causation to be established
i. The injury must be within the type of harm that the defendant’s negligent conduct increased the risk of
ii. Policy reasons of why don’t punish when no injury
	a. Floodgates
	b. Compensation, not punishment
	c. Impossible to determine whether negligent conduct alone
d. Deterrence: would be less incentivized to control your conduct if you’re going to be held liable no matter what
e. The injury functions to set the level of risky behavior
f. Causation assists in reaching a level of optimal behavior
II. Cause in Fact
A. Factual inquiry aimed at ascertaining whether we can say with common sense whether the defendant’s actions caused the plaintiff’s injuries
B. But For Test
i. The plaintiff must show that but for the defendant’s negligence, the harm she suffered would not have occurred
a. Whether defendant’s conduct was a necessary condition for the plaintiff’s injury
ii. Used in most cases to establish actual cause
C. Substantial Factor Test for Cause in Fact
i. R.2d § 432. Negligent Conduct as Necessary Antecedent of Harm
a. (1) Except as stated in Subsection (2), the actor’s negligent conduct is not a substantial factor in bringing about harm to another if the harm would have been sustained even if the actor had not been negligent.
1. But for causation, necessary cause
b. (2) If two forces are actively operating, one because of the actor’s negligence, the other not because of any misconduct on his part, and each of itself is sufficient to bring about harm to another, the actor’s negligence may be found to be a substantial factor in bringing it about
1. Substantial factor causation, sufficient cause
		ii. Used in cases of multiple sufficient causes
	D. Burden of proof
i. If the plaintiff can prove that a particular harm was suffered of which deems a negligent act wrongful then this is enough to support a finding that the negligent behavior caused the harm
a. It is then up to the defendant to rebut the presumption that they were the actual cause of the harm
	1. Similar to the evidentiary function of res ipsa loquitur
b. Zuchowitz v. United States: if the plaintiff could establish that it was more likely than not that the Danocrine caused the PPH, then the BOP would shift to the defendant to prove that it was not due to his negligence
c. This is arguably fair in cases where it would be next to impossible to prove the defendant’s negligence and want a way to compensate the victim
1. Argue against: the defendant was never put on notice; with negligence per se, the legislature has set the standard of care and here no such standard has been set before shifting the BOP to the defendant
	E. Can be difficult to prove when
		i. The concurrence of two events may simply be a coincidence
ii. The defendant’s conduct is one of a number of alternative causes, each of which would have been sufficient to cause the harm, and you don’t know which one it was
a. Some courts have found the defendant liable when it is more likely than not
1. Stubbs: court found that the plaintiff had proven the defendant was the cause of his illness with “reasonable certainty” and should therefore be able to recover
	. Preponderance of the evidence standard
ß. Has been replaced by a reasonable medical probability standard
iii. Twin Fires Example
	a. Joint sufficient causes
1. These are rare cases; typical multiple defendant will use a but for test to determine joint necessary causes
b. Two negligently set fires occur simultaneously, burning down P’s house
1. “But for” test fails because P’s house would have still burned down even in the absence of one of the negligently set fires
2. “Substantial factor” test is satisfied because each negligently set fire is a “substantial factor” causing P’s house to burn down.
c. One negligently set fire and one that is not negligently set occur simultaneously, burning down P’s house
1. “But for” test fails because P’s house would have still burned down even in the absence of D’s negligently set fire
2. “Substantial factor” test is satisfied because D’s negligently set fire is a “substantial factor” causing P’s injury.
	F. Loss of Chance
		i. Confined to the medical context
			a. Do not want to extend this theory to the stranger/layperson
			b. Hold doctors to a higher standard
ii. Plaintiff may recover damages for a lost chance of a better outcome by showing, to a reasonable medical probability, the defendant’s medical malpractice caused the loss of a chance, and the harm that might have been avoided in fact occurred.
a. Alberts v. Schultz: doctor’s conduct was not the but for cause because Alberts had an underlying condition that would have led to the loss of his leg, but the plaintiff was able to bring a claim that the doctor’s conduct reduced the chance of his recovery
iii. Recovery is measured by the percentage value of the plaintiff’s chance for a better outcome
a. If can prove there was more than a 50% chance of recovery lost, most jurisdictions allow full recovery to be sought
b. But still have to prove that it is more likely than not that the conduct is what caused this lost chance
G. Joint and Several Liability
i. Joint and several liability
a. Pertains to any situation involving multiple defendants who cause harm to a plaintiff that cannot be divided
1. The injuries are neither successive, divisible, nor distinct
b. If defendants are jointly and severally liable, each defendant is liable for the entire judgment, although plaintiff can only recover the judgment once
1. Common law traditionally mandated that one defendant among the group could be responsible for the entirety of the damages to maximize recovery for the plaintiff
. The plaintiff could fully recover even if one of the defendants were insolvent
c. Allocation of liability is left to the tortfeasors
		1. Rights of contribution
. If the defendant only sues one of the tortfeasors, he will have to pay the entire amount, but then can sue the other tortfeasor for contribution
	2. Rights of indemnity
		3. Effect: risk of insolvency is placed on the tortfeasors
ii. Several liability
	a. Requires allocation of fault among the defendants
1. The percentage of damages is proportional to the percentage of fault
. May lead to the plaintiff being unable to recover 100% of the damages if one of the defendants is insolvent
b. If defendants are severally liable, each defendant is liable only for the portion of the judgment that is attributable to his fault
c. It is up to the plaintiff to bring all potential defendants into the lawsuit
	1. Effect: the risk of insolvency is on the plaintiff
2. If only sues one of the tortfeasors and it is found that he was 40% responsible for the plaintiff’s injuries, then only required to pay the plaintiff 40% of the damages
		iii. Statutory reforms
			a. Abolish
b. Abolish where defendant is less than, for example, 50% at fault
c. Abolish for non-economic damages (CA included)
d. Abolish where plaintiff is at fault
e. Abolish in some areas, retain in others
		iv. Multiple defendants are jointly and/or severally liable when
			a. They are concurrent tortfeasors
			b. There is an inability to apportion
			c. They are acting in concert
				1. Must agree to engage in the tortious activity
			d. There are other vicariously liable defendants
			e. Alternative liability
1. When two (or more?) defendants, are negligent, but it is uncertain which one caused the injury, each defendant is jointly and severally liable for the entire harm unless the defendant can show his act did not cause the harm.
. The BOP shifts to the defendants to prove who was actually liable
ß. Arguably leads to an over-inclusive result, but courts want to compensate the plaintiff
2. Summers v. Tice: two defendants each shoot negligently in plaintiff’s direction; plaintiff is hit; cannot show which gun fired the shot that hit him
. Distinct from multiple sufficient causes because it cannot be determined if it was only one defendant or both that caused the plaintiff’s harm
			f. Market share liability
1. When manufacturers acting in a parallel manner to produce an identical, generically marketed product, which causes injury many years later
	. Must determine which market,
		I. National or local
ß. If the defendants are jointly and severally or just severally liable, and
∂. Whether exculpation is allowed
2. Hymowitz v. Eli Lilly: children of mothers who ingested DES sue manufacturers for latent cancer
. The plaintiff is aware of what actually caused the cancer, DES, but is unsure as to which defendant manufacturer is correct for each specific case
				3. Traditional common law rules do not work here
. Alternative liability theory: too many manufacturers to apply this theory
ß. Acting in concert: independent and parallel action, not an agreement
4. Inculpation: if the plaintiff can show that this specific defendant for sure caused the injuries, defendant would be responsible for 100% of the damages regardless of market share
. Justified by compensation: if plaintiff can show this evidence then they should be able to recover 100%
v. Multiple defendants are not jointly and severally liable when the negligence of each causes distinct injuries to the plaintiff
	a. Distinct harms
	b. Successive injuries
	c. Apportionable injuries
III. Proximate Cause
A. Policy inquiry that allows courts to limit liability even when actual cause exists
	i. Similar to the duty analysis
a. Even when under traditional tort principles the defendant should be liable, the court can still limit the liability
ii. Policy at issue has to do with an intuitive sense of fairness as to whether a defendant who has actually caused the plaintiff’s injury should also be found to be the legal cause
iii. Question for the jury to decide, based on their common sense, as to what seems fair
B. Three types of cases that raise proximate cause issues
i. Proximate cause questions arise when there is a question of foreseeability
a. Something must be arguably unforeseeable thereby requiring an analysis of proximate cause
ii. Unexpected harm
a. Approach
1. Was the resulting harm within the scope of risks created by the defendant’s negligence?
		. Type of harm is important
2. Were there unforeseeable consequences of the initial injury? 
	. Eggshell skull rule
ß. Normal consequence / normal efforts rule for rescuers and secondary harms
b. Direct consequences: liable for all harm that is directly caused regardless of foreseeability
1. Polemis: board fell while shippers were moving crates of benzene; fire started as a result of the board igniting something on its way down; no question that the charterers were negligent; the board falling occurred due to such negligence
. If damage is foreseeable then the extent or exact type of damages suffered is immaterial if it can be said to have been directly caused by the negligent act.
ß. Later overturned by Wagon Mound based on deterrence rationale
				2. Closeness of time and space
. One feature of directness is that there is nothing intervening between the negligence and the plaintiff’s injury
I. If there is something intervening then the defendant’s conduct is attenuated from the injury, making less of a case for directness
	c. Foresight test: liability is limited to what was foreseeable
1. Wagon Mound I: oil spill that was left; stopped operation for a few days and then resumed when believed it was safe; wood and cotton caused the oil to catch fire; much destruction to the area
2. A plaintiff will characterize the foreseeable risk broadly, whereas a defendant will characterize it narrowly
3. The type of harm must match what was expected to result given the defendant’s negligence
. Ex. trolley was speeding and a tree fell on it; was an actual cause as had it not been speeding it would not have been there when the tree fell and the injuries would not have occurred; no proximate cause because speeding did not increase the risk of the particular harm occurring; it was beyond the scope
4. This is the dominant approach, but characteristics of directness still come into play when doing a proximate cause analysis
	d. Type of harm v. extent of harm
		1. The type of harm needs to be foreseeable
		2. The extent of harm does not need to be foreseeable
			e. Restatements
1. R.3d § 29: An actor’s liability is limited to those physical harms that result from the risks that made the actor’s conduct tortious
2. R.3d § 30: An actor is not liable for physical harm when the tortious aspect of the actor’s conduct was a type that does not generally increase the risk of that harm
3. Meant to define and bring specificity to foreseeability
f. Harm-within-the-risk approach (p.414, n.11 – Sugar Notch Railway)
1. A negligent actor is responsible only for harm the risk of which was increased by the negligent aspect of his conduct
2. R.: No liability where harm arises from an entirely different hazard than that created by the defendant’s negligence
			g. Eggshell Skull Plaintiffs (Benn v. Thomas)
1. If the initial type of injury was the proximate result of the defendant’s negligent conduct, the defendant will be responsible for the entire extent of the injury
2. Liability for the full extent of the harm, even if the extent is unforeseeable
3. Characterize the defendant’s acts as creating a foreseeable risk of (initial) physical injury to this plaintiff, physical injury occurs, the extent of the harm is then irrelevant.
. The scope of the risk is determined by our own common experience and our understanding of what kinds of conduct will produce what harms
4. Still controversial because its justification arguments are not undisputed
			h. Secondary harms (overlap with unexpected manner)
				1. The “normal consequences” test
. Medical negligence is a “normal consequence” of negligence
				2. The “normal efforts” test
					. Rescue is a “normal effort” of negligence
I. R.2d § 443: The intervention of a force which is a normal consequence of a situation created by the actor’s negligent conduct is not a superseding cause of harm which such conduct has been a substantial factor in bringing about.
II. R.2d § 445: If the actor’s negligent conduct threatens harm to another’s person, land, or chattels, the normal efforts of the other or a third person to avert the threatened harm are not a superseding cause of harm resulting from such efforts… [this] applies equally where the conduct of the actor has created a danger only to himself, if at the time of such conduct he should reasonably anticipate that others might attempt to rescue him from his self-created peril, and sustained harm in doing so.
	iii. Unexpected manner (intervening or superseding causes)
a. Approach
1. Was the resulting injury foreseeable, even if the intervening act was arguably unforeseeable?
b. If there is an intervening cause, but the result was foreseeable regardless then proximate cause exists
c. If there is an intervening cause, but the result is within the scope of the risk created then proximate cause exists
d. Superseding cause
1. If there is an intervening cause and the result is unforeseeable or outside the scope of the risk created then there is no proximate cause established
. The intervening actor is then viewed as the proximate cause of the harm
2. Doe v. Manheimer: defendant failed to cut shrubbery and plaintiff was sexually assaulted; was hidden from view because of defendant’s negligence; court found plaintiff’s argument was too speculative and the third party’s criminal conduct was a superseding act absolving the defendant of liability
			e. R.2d § 442(B). Intervening criminal activity
1. “A negligent defendant, whose conduct creates or increases the risk of a particular harm and is a substantial factor in causing that harm, is not relieved from liability by the intervention of another person, except where the harm is intentionally caused by the third person and is not within the scope of risk created by the defendant’s conduct.”
. BUT “such tortious or criminal acts may in themselves be foreseeable and so within the scope of risk created.”
I. Ex. hotel failed to comply with fire safety precautions and an arsonist’s activities did not break the chain of causation as a fire was within the scope of risk that the defendant created regardless of its source
			f. R.2d §§ 448, 449. Intervening criminal activity
1. An intervening criminal’s acts break the chain of causation unless the actor at the time of his negligent conduct realized or should have realized the likelihood that such a situation might be created, and that a third person might avail himself of the opportunity to commit such a tort or crime.
	. Really means the same thing as R.2d § 442(B)
		iv. Unforeseen victim
			a. Approach
1. Was the class of persons including the plaintiff within the scope of risks created by the defendant’s negligence?
			b. A plaintiff must be foreseeable for a defendant to be liable
			c. Rescue
1. Rescuers who are injured from initial defendant’s negligence may also recover
. Defined as an extent of harm rather than an unforeseen victim
C. Palsgraf v. Long Island Railroad: the train station employee knocked a box that had explosives in it to the ground; explosives went off; scale fell on Palsgraf and severely injured her; majority found there was no proximate cause
		i. Duty
			a. Cardozo: duty only to foreseeable plaintiffs
			b. Andrews: duty to the world
		ii. Breach
a. Cardozo: as a matter of law, defendant could not have breached a duty to plaintiff because she was not foreseeable and the harm to her was not a foreseeable risk of what the defendant had done.
		iii. Proximate cause
a. Andrews: Foreseeability is a malleable concept. Plaintiff and her injury were at least remotely foreseeable. Therefore, the proximate cause issue should have gone to the jury.
iv. Arguably Palsgraf includes all three of the proximate cause questions you would ask: unforeseeable harm, victim, and manner
Defenses
I. Plaintiff’s fault
A. Contributory Negligence
	i. Traditional common law approach to a plaintiff’s negligence
a. If the defendant negligently injured the plaintiff, but the plaintiff was somehow contributorily negligent, the plaintiff was completely barred from recovery
ii. Limitations on contributory negligence / modifications to make it less harsh
		a. More relaxed standard of care
1. The application of negligence as to the plaintiff was relaxed
. He was not always judged as an objective reasonable person, but as himself and what he subjectively perceived
		b. Role of the jury
1. Jury would be sympathetic to the plaintiff and did not want to bar the plaintiff’s claim and so would ignore the plaintiff’s negligence
		c. Last clear chance
1. Was an independent doctrine when the defendant had the last opportunity to avoid injury
. Defendant was therefore still liable regardless of the plaintiff’s negligence
		d. Imputing plaintiff’s negligence
1. If a plaintiff was negligent and someone else was suing on behalf of the plaintiff, then the principal plaintiff’s negligence would be imputed to the person who was suing, barring the claim of the person who was suing
. Therefore it has been abolished in many instances
ß. Still retained under some circumstances such as the damages of the person suing
B. Comparative Fault
	i. Dominant approach
		a. Has overtaken contributory negligence
			1. Which is basically non-existent now
	ii. Plaintiff’s recovery is reduced by the amount of plaintiff’s fault
a. Both the plaintiff and defendant are responsible for an indivisible harm
	iii. Pure comparative negligence
a. Ex. If a plaintiff was 5% at fault in contributing to her own injury and the defendant was 95% at fault, the plaintiff would receive 95% of the damages
b. Administratively easy
c. Adopted by jurisdictions that adopted it by way of the courts
	iv. Modified comparative negligence
a. When the plaintiff is 49% or less at fault, then the plaintiff can recover a reduced amount of damages
b. The plaintiff is permitted to recover even when his negligence is equal (50%) to the defendant’s
c. Developed because still want the plaintiff to be more innocent than the defendant
1. Retains some of the thinking that the plaintiff should have clean hands in order to recover
			d. Typically adopted when done by way of legislature
	v. Comparative contribution
a. Comparative negligence applies even when there are multiple defendants
1. Juries must determine amount of fault that should be assigned to each party
	vi. What is compared under the Uniform Act
a. The Uniform Act basically gives factors to consider how to assess how culpable each party is compared to the other
			a. Inadvertent vs. awareness
b. Magnitude of risk, persons endangered, seriousness of injury
		c. Significance of actor’s goals
			d. Actor’s superior or inferior capacity
e. Particular circumstances such as exigent circumstances
		v. Medical providers
a. A physician cannot avoid liability simply because the patient initially injured himself by his own negligence
1. Fritts v. McKinne: plaintiff was drinking and got in a car accident; taken out of ICU but needed reconstructive surgery on his face; bled to death due to doctor’s negligence
2. Want to provide safety incentives for medical providers
II. Avoidable Consequences
A. Plaintiff cannot recover for negligently inflicted damages that she could have avoided or minimized by reasonable care
	i. Plaintiff has a responsibility to mitigate damages
	ii. Courts can identify or isolate two distinct incidents of harm
B. Straight forward case has to do with a plaintiff who fails to care for himself after his initial injury
	i. Ex. Unreasonable failure to take prescribed antibiotics
	ii. Difficult cases deal with anticipatory avoidable consequences
a. Ex. Failure to wear a seatbelt; injuries suffered could have been greatly reduced
b. These cases make the language of avoidable consequences seem somewhat needless as can simply do a comparative negligence analysis
C. Works to reduce the damages awarded
III. Assumption of the Risk
	A. Express
i. Arises when one person gives explicit written or oral permission to release another party from an obligation of reasonable care
a. If plaintiff has expressly consented to invasion of rights, then the defendant can raise this as an affirmative defense
1. Court must decide whether contract or tort rules should supersede
. Contract rules would allow parties to agree to give their rights away
ß. Tort policy brings into account the issue of safety and public policy
I. Even if the plaintiff consented, the court may take a paternalistic approach and void the consent on the part of the plaintiff
b. Comparative fault analysis does not factor into this type of A/R
				1. If a waiver is valid, there is no comparison of fault
ii. Approach
	a. Did the plaintiff expressly assume the risk?
1. Language of the agreement must be clear and unambiguous
b. Even if the plaintiff did consent, are there other reasons, on public policy grounds, that prevent the enforcement of the agreement?
	1. Tunkl factors
. Business type suitable for public regulation
ß. Public service of practical necessity
∂. Service available to any member of public
γ. Unequal bargaining power
π. Adhesion contract with no “out” provision based on increased fee
ø. Purchaser under control of seller, subject to risk of carelessness
iii. Dalury v. SKI: court invalidates the waiver due to liability involving public interests; crafted the basis for invalidation on a landowner liability and views the ski resort as a public service
	B. Implied
i. Implied consent to risk can be inferred from a party’s conduct and the circumstances
	a. A subjective analysis of taking on the risk
ii. Three basic elements tested by a subjective standard
	a. Knowledge of the risk
	b. Appreciation of the risk
	c. Voluntary exposure to the risk
iii. Two categories
	a. Primary A/R
		1. Not an affirmative defense
		2. Limited duty principles apply
. Murphy: no breach of limited duty; in sports there is a limited duty because
I. As a spectator, a stadium’s duty is fulfilled by providing protection where danger is greatest
II. As a participant, courts take different approaches
A. Knight: duty to avoid intentionally or recklessly injuring another
i. To avoid chilling participation in active sports
ii. To avoid altering fundamental nature of the activity
B. Lestina: ordinary negligence applies according to customs of the game
i. Question goes to the jury to determine what the customary scope of the game is and whether the conduct was outside of the scope
ii. Minority approach
	b. Secondary A/R
		1. True affirmative defense
. Traditional doctrine completely barred plaintiff from recovery
		2. Comparative negligence applies
. Inconsistent because plaintiff is not barred from recovery, but this defense will
ß. Apply a reasonable vs. unreasonable analysis of the plaintiff’s conduct to justify the two
I. When the plaintiff’s conduct is found to be reasonable, the plaintiff is not negligent and will not face diminished recovery
II. When the plaintiff’s conduct is found to be unreasonable, comparative negligence will apply and the plaintiff will face a diminished recovery
3. Davenport: lights had not been working in one of three stairwells for the past two months; plaintiff mistook a shadow for a stair and tripped and fell, injuring himself
. “Secondary implied A/R … arises when P knowingly encounters a risk created by the D’s negligence. It is a true defense because it is asserted only after the P establishes a prima facie case of negligence against the D.”
ß. “Secondary implied A/R may involve either reasonable or unreasonable conduct on the part of the P.”
iv. Murphy v. Steeplechase Amusement Co.: “The Flopper”; the defendant was not negligent as the plaintiff had ridden the ride so as to fall on the floor; this was the act that caused his injury; this was an inherent risk of the ride
	a. Primary A/R analysis
1. Defendant was not negligent because the Flopper presented inherent risks and the plaintiff knew of these risks
. This negates the fact that the defendant had breached any duty in the first place
ß. Primary is that the defendant did not breach a duty or that he didn’t have a duty at all
			b. Secondary A/R analysis
1. Look to see whether the risk imposed was inherent in the activity
. Look to the three factors (elements above) to form the evaluation as to what those inherent risks are and whether there exists an implied secondary A/R
I. Use these factors in a traditional affirmative defense sense
C. Burden of pleading and proving A/R rests on defendant
D. Firefighter’s Rule
i. If a firefighter is injured by a plaintiff’s negligence while performing their employment duties, they cannot recover
	a. They assume the risk associated with their occupation
	b. Extends to policemen as well
	i. A limited duty
	ii. Jurisdictional approaches
a. Levandski: a rule of premises liability, firefighters and police officers are licensees (not for the benefit of the owner, but performing their duty)
	1. Reasons for using premises liability
. Doctrine of A/R: entering the home and the homeowner shouldn’t be held responsible
ß. Double taxation if held tax-paying landowners liable
b. Roberts: no recovery for injuries sustained as the result of the negligence that gave rise to their emergency duties.
c. Zanghi: no recovery when injured by hazards from risks that existed because of the position for which they were hired.

Strict Liability
I. Has to do with the defendant’s activity
A. If it is so dangerous that its dangers cannot be reduced with all care and caution, then a plaintiff, if injured due to the defendant’s activity, may be able to recover on a strict liability basis
	i. Determination of application of S/L or negligence is up to the judge
II. Not absolute liability
A. In S/L the duty and breach elements in a negligence case are addressed by the defendant’s conduct, but causation must also be established
B. Prima facie case
		i. Instead of duty: Is the activity abnormally dangerous?
	ii. Instead of breach: Did the D engage in that activity?
		iii. Causation
	iv. Damages
III. Rylands v. Fletcher: case arose out of bursting of water reservoir on defendant’s land, which caused property damage to plaintiff’s land
	A. Court imposed S/L, but there is a debate today on when S/L applies
		i. Blasting cases did apply S/L
			a. Older cases differentiated between debris and concussion
				1. Debris: direct injury leads to application of S/L
. Defendant explodes a tree, which splinters and injures the plaintiff
2. Concussion: an indirect injury requires some showing of fault
. Defendant explodes a tree which shakes something that ends up injuring the plaintiff
				3. Modern view rejects this distinction
	B. Rules
i. Lord Blackburn’s rule from the intermediate court
a. A person who for his own purposes brings on his lands and collects and keeps there anything likely to do mischief if it escapes, must keep it in at his peril, and, if he does not do so, is prima facie answerable for all damage which is the natural consequence of its escape.
1. Defendant brought something onto the land that was not naturally there; if it escapes, the defendant is responsible for the consequences
2. Limited to adjacent property owners
. People walking around are exposing themselves to inevitable risk, but while you are on your own land, you have a right to be protected and to quiet enjoyment
		ii. Lord Cairns’ Alternative Test
			a. S/L is applied when there is non-natural use of the land
1. Non-natural does not mean artificial, but rather what would not be a common, customary, or expected use of the land
IV. Ultrahazardous activities
	A. Restatement of Torts 1st
i. An attempt to generalize a broader principle of S/L identified as ultrahazardous activities, not just pockets for S/L to apply
	B. R.2d § 520. Abnormally Dangerous Activities
i. Gives a six factor rule for deciding what activities will be subject to S/L
a. Indiana Harbor Belt Railroad: defendant was the manufacturer of a toxic chemical that leaked when being shipped; Posner rejects applying S/L and finds that the defendant should be held to a negligence standard
	C. R.3d § 20. Abnormally Dangerous Activities
		i. Reversion back to the first Restatement
			a. To determine whether the activity is abnormally dangerous
ii. (a) An actor who carries on an abnormally dangerous activity is subject to strict liability for physical harm resulting from the activity.
(b) An activity is abnormally dangerous if:
	(1) the activity creates a foreseeable and highly significant risk of physical harm even when reasonable care is exercised by all actors; and
	(2) the activity is not one of common usage.
D. Sullivan v. Dunham: injury to plaintiff in the public due to defendant’s dynamite blasting; imposes S/L because of the inherently dangerous activity
i. Relies on Hay which imposed S/L on blasting activity that injured a neighbor
ii. Distinguishes Hay and Locee based on intention of causing the explosion
	a. When intentional, if injury occurs, apply S/L
	b. When unintentional, a negligence analysis is necessary
V. Theoretical Perspectives of S/L
A. The shift is from the fault principle, which manages wrongdoing between individuals
i. Now looking at mass production and shift from corrective justice to collective (or distributive) justice
	a. Has to do with what is best for society as a whole
b. Manufacturers can spread the losses by increasing prices of their products or increasing the safety provided for their customers
1. Everyone pays a piece of the price associated with particular products
	B. Deterrence
i. Imposing the costs of accidents on the manufacturers will create incentives to obtain the optimal safety measures
ii. Will increase safety precautions as much as they can and will be reflected in the cost of their products
iii. If costs of making the product safe are too much, the manufacturers will simply not produce such hazardous products
	C. Fairness
		i. Higher risk activities call for higher liability
ii. The defendant is the one engaging in this harmful activity and therefore they should take responsibility for those losses
VI. Affirmative Defenses
	A. Affirmative defenses applicable to negligence also pertain to S/L
	B. Section 25. Comparative responsibility
		i. The same as comparative negligence
ii. If the plaintiff has been contributorily negligent in failing to take reasonable precautions, the plaintiff’s recovery in a strict liability claim … for physical harm is reduced in accordance with the share of comparative responsibility assigned to plaintiff.
iii. Still possible to allocate “fault percentages” between the parties
a. Negligence of the plaintiff compares to the liability of the defendant
	1. Comment d: what gets compared
. “When the defendant is held liable under a theory of strict liability, no literal comparison of the fault of the two parties may be possible.”  According to R.3d, Torts: Apportionment of Liability § 8, Comment a, while ‘comparative responsibility” is a common legal term, “assigning shares of responsibility” might be a better term, “because it suggests that the factfinder, after considering the relevant factors, assigns shares of responsibility rather then compares incommensurate quantities.”

Products Liability
I. Approach
	A. Is the defendant a manufacturer, seller or distributor?
	B. Is the product defective?
		i. R.2d “unreasonably dangerous” test
			a. Rule applies to all types of defects
		ii. R.3d – three categories of defects
a. A plaintiff will generally raise all three types in her claim and then apply the various tests
			b. Manufacturing defect
				1. Departs from intended design
			c. Design defect
1. When the entire product line is as intended, but the entire product line is observed as defective
			d. Warning defect
				1. reasonable instructions could have reduced the risk
			e. Other
				1. Irreducibly unsafe
. Products that do not have an alternative design, but are still determined to be dangerous
ß. R.3d analog is the “manifestly unreasonable design”
∂. To satisfy this test, the product must have no utility
I. Must be egregiously unsafe or ultrahazardous and the ordinary consumer must be unaware of the risks and the product has little or no utility
				2. Malfunction theory (res ipsa)
		iii. Barker test
			a. Consumer expectations
				1. Ask if the product violated the consumer expectations
. Consumer expectations establish the minimum floor
ß. Plaintiff can use this as a sword
∂. Cannot be used as a shield by the defendant (Camacho)
2. A plaintiff can use this test when the products are simple in design and/or the damage is so severe and unexpected that any person would be able to see there was obviously a defect
	. There is a very limited application of this test
			b. Risk utility
				1. Ask if the risks outweigh the utility
. Can be used in addition to or instead of the consumer expectations test if the product required expert testimony for evaluation of the product, its defect, and the safety measures and technicalities
ß. Balancing test resembling the Hand formula
∂. risk v. Utility of Design
I. Gravity of danger posed by challenged design
II. Likelihood of danger
III. Feasibility of an alternative design
IV. Cost of an improved design
V. Consequences to product and consumers from alternative design
					γ. Applied in hindsight
					ø. Defendant has the BOP
	C. Did the defect cause the plaintiff’s injury?
		i. Strict liability theory does not mean absolute liability
		ii. Actual cause (link between product defect and injury)
a. Product was defective when marketed and “but for” product defect, plaintiff would not have been injured.
iii. Proximate cause (consider who the plaintiff is and how the product was used)
	a. Was the injury foreseeable?
	D. Defenses
	E. Damages
II. Doctrinal Development
	A. MacPherson v. Buick Motor Company: privity requirement is eliminated
i. “If to the element of danger there is added knowledge that the thing will be used by persons other than the purchaser and used without new tests, then irrespective of contract, the manufacturer of this thing of danger is under a duty to make it carefully.”
a. Cardozo expands the inherently dangerous products theory to get rid of the privity requirement in products liability cases
1. Defines a product as inherently dangerous if the manufacturer knows that if it is negligently made and reasonably certain to place a person in peril
. If something is a thing of danger then privity is not required
b. Although not barred by lack of privity, the plaintiff must still prove negligence; this is not S/L
	1. Prove defendant’s negligence
2. The thing will be used by persons other than the direct purchaser
3. Must be some sort of proximity between the manufacturer and the harm
c. This opinion applies only to the manufacturer of the final product, not the component manufacturer
	B. Warranty Law
		i. Express warranty: manufacturer guarantees safety of the product
			a. There is no defense to injury from product
		ii. Implied warranty of merchantability: safe for use
			b. No defense for the manufacturer
iii. Implied warranty of fitness for a particular purpose: implicitly warranting that the thing will serve its purpose and will be safe when used for this purpose
iv. Ryan: husband injured when swallowed a pin that was in the loaf of bread purchased by his wife; shopkeeper was held liable for breach of implied warranty of merchantability
a. Breach of warranty of fitness for a particular purchase was denied as she had not relied on the shopkeeper’s opinion in what product would best fulfill her needs, but asked for a specific brand of bread
v. Warranty was not enough to provide recovery for injuries from defective products
C. Escola v. Coca Cola Bottling Co.: plaintiff was injured when a bottle exploded in her hand; defendant was responsible for bottling the product, he was not the bottle manufacturer
	i. Majority used res ipsa loquitur to find for the plaintiff
a. Traynor’s concurrence argues that res ipsa loquitur should not be applied, but that S/L is a better standard
1. Res ipsa would allow the defendant to rebut negligence with a showing of due care
2. The majority is essentially using S/L and should just be up front about it
ii. “It should now be recognized that a manufacturer incurs an absolute liability when an article that he has placed on the market, knowing that it is to be used without inspection, proves to have a defect that causes injury to a human being.”
iii. Policy rationales for S/L
	a. Deterrence (risk reduction)
1. Placing liability where it will most effectively reduce the hazards inherent in defective products that reach the market.
			b. Loss spreading
1. Shifting the loss to the party who can best insure and spread the loss among users of the product
			c. Justice / fairness (buyer expectations)
1. Under modern marketing methods, the consumer no longer has the means to investigate a product’s soundness, and has been led to be confident in manufacturers’ ability to produce a safe product.
		iv. S/L should not extend beyond the manufacturer
a. The manufacturer is in control of the production of the product
b. The retailer is not able to change the construction of the product
1. It is unfair to hold the retailer liable when the manufacturer exercises more control over the production and is more actively involved in causing the injury
. It would unduly enlarge liability and would perhaps be overdeterrence
	ß. Efficiency is against indemnification
b. Now all jurisdictions extend the application to all in the chain of distribution
	1. R.2d § 402(A)
. Manufacturer or seller liable for products sold in a “defective condition unreasonably dangerous” to users or consumers who are injured by product.
I. This section was criticized for its lack of clarity regarding what a defect is
A. Courts had to bring clarity to this provision
II. Differences from a negligence analysis
A. Reasonableness is in regard to the product itself, not the conduct of the manufacturer
B. BOP on defendant to disprove that the product had a defect
C. Evaluated in hindsight; at the time of trial was the product defective
	2. R.3d § 1. Current approach to products liability
. One engaged in the business of selling or otherwise distributing products who sells or distributes a defective product is subject to liability for harm to persons or property caused by the defect.
				3. A commercial lessor is held strictly liable
	D. Not held liable under S/L
		i. Used sellers are generally not held liable for defects in products
ii. Some franchisors and successors of companies in a few jurisdictions
iii. Financiers have generally not been held strictly liable
	F. R.3d § 2. Categories of Product Defect
i. A product is defective when, at the time of sale or distribution, it contains a manufacturing defect, is defective in design, or is defective because of inadequate instructions or warnings. A product:
(a) contains a manufacturing defect when the product departs from its intended design even though all possible care was exercised in the preparation and marketing of the product;
(b) is defective in design when the foreseeable risks of harm posed by the product could have been reduced or avoided by the adoption of a reasonable alternative design by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the alternative design renders the product not reasonably safe;
(c) is defective because of inadequate instructions or warnings when the foreseeable risks of harm posed by the product could have been reduced or avoided by the provision of reasonable instructions or warnings by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the instructions or warnings renders the product not reasonably safe.
a. Today, analyze according to the type of defect at issue
	G. Modern products liability
		i. Manufacturing defects
			a. True S/L
b. If a plaintiff gets injured from a product that is aberrant from the intended design, then the plaintiff doesn’t have to show anything more than what was flawed in the design
c. Plaintiff must show that it diverged from its intended design
d. Generally open and shut cases for plaintiffs
		ii. Design defects
		iii. Warning defects
III. Manufacturing defects
A. Product not in condition that manufacturer intended when it left his/her control
	i. Defect determined through comparison
	ii. Strict liability
B. Defining manufacturing defect under each of the approaches
i. R.2d: was the product in a defective condition “unreasonably dangerous” to users or consumers who are injured by the product?
ii. R.3d: did the product contain a defect that “departed from its intended design even though all possible care was exercised in the preparation and marketing of the product”?
iii. Barker: consumer expectations test
a. Product failed to perform as safely as an ordinary consumer would expect when used in an intended or reasonably foreseeable manner
IV. Design defects
A. Product was in condition intended by manufacturer, but whole product line designed in a way that is unsafe to users.
i. Defect determined through a variety of approaches that resemble a negligence type analysis (even though courts will say strict liability)
	B. Defining design defect under each approach
i. When performing a risk-utility analysis, the comparison must be with similar products to determine if a defect exists
ii. R.2d: was the product in a defective condition “unreasonably dangerous” to users or consumers who are injured by product?
iii. R.3d: was there a reasonable alternative design that could have reduced or avoided the foreseeable risks of harm posed by the product and the omission of the alternative design rendered the product not reasonably safe?
a. Factors to be considered in evaluating a reasonable alternative design
	1. Magnitude and probability of the risk
	2. Instructions and warnings accompanying the product
3. Nature and strength of consumer expectations, including expectations based on marketing
4. Relative advantages and disadvantages of the product and its alternatives, including product longevity, maintenance, repair, and esthetics; and the range or consumer choice among products, etc
b. The factors interact with one another in a balancing test of sorts
c. The plaintiff has the burden of introducing that there was an alternative design
d. Exceptions
1. Irreducibly unsafe product
. Products that have known dangers, but for which there are no RADs
I. O’Brien: defendant will be liable if the risks of injury “so outweigh the utility of the product as to constitute a defect.”
II. R.3d calls this “manifestly unreasonable design”
				2. Inferring defect (Malfunction Theory)
. R.3d § 3: It may be inferred that the harm sustained by the plaintiff was caused by a product defect existing at the time of sale or distribution, without proof of a specific defect, when the incident that harmed the plaintiff:
	(a) was of a kind that ordinarily occurs as a result of product defect; and
	(b) was not, in the particular case, solely the result of causes other than product defect existing at time of sale or distribution.
iv. Barker tests (OR)
	a. Consumer expectations test
1. Product failed to perform as safely as an ordinary consumer would expect when used in an intended or reasonably foreseeable manner
			b. Risk utility test
1. Through hindsight, at trial, the product’s design embodies “excessive preventable danger,” or in other words, if the jury finds that the risk of danger inherent in the challenged design outweighs the benefits of such design.
2. Ortho factors introduced in Camacho (do not need for exam)
			c. Role of “open and obvious” dangers
1. Defendant could argue that the product was not defective because the plaintiff was aware of the dangers and had the option to purchase other products that provided for greater safety if he were concerned with this
	. Plaintiff was assuming the risk
	ß. Court (Camacho) rejects this defense
I. Manufacturers should not be able to disclaim responsibility simply because the defect is open and obvious
II. Cannot use the consumer expectations test as a defense
2. But in applying the risk-utility test, open and obvious is a factor to be considered
	C. Crashworthiness doctrine
i. Manufacturers should be able to anticipate that vehicles will get into an accident
	a. Therefore, this is a foreseeable use, even if it is not intended
1. Manufacturers should build their vehicles so that they are safe for this foreseeable use
ii. Prior to the adoption of this doctrine, defendants could argue that injuries were due to the misuse of the vehicle
V. Warnings
	A. Warnings defects are treated separately from design defects
i. Warnings may indicate a safer way to use the product or may have irreducible risks (i.e. side effects) that may lead to people not buying the product
ii. Works a lot like negligence analysis
	B. Defining warning defect
		i. R.2d
a. Was the product in a defective condition “unreasonably dangerous” to users or consumers who are injured by product?
		ii. R.3d
a. Was the product “defective because of inadequate instructions or warning when the foreseeable risks of harm posed by the product could have been reduced or avoided by the provision of reasonable instructions or warnings by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the instructions or warning renders the product not reasonably safe?”
		iii. Approach (see slide 5 on 3/28 for accompanying Notes)
			a. Threshold question: is there a need for a warning?
1. If the harm is obvious then a warning may not be necessary
	. Ex. knives are sharp and will cut you
			b. If so, who is to be addressed by the warning?
1. The ultimate user, most affected by the product and expected to use the instructions or warnings to avoid harm
2. Only users? Children?
. Cigarette lighters should not have a warning on them to warn children of the risk; parents have a responsibility to play a supervisory role
			c. Is the warning adequate?
1. Adequate in content, adequately communicated, and increases safety of product
			d. Would the user heed the warning if adequate?
1. Heeding presumption: presumption that the user would have heeded the warning if adequate that defendant must rebut
. Prevents the defendant from saying that the plaintiff didn’t read the first warning and would not have done so if it had been adequate
e. Must the warning address risk of injury from product misuse?
1. Yes, if use was “unintended but reasonably foreseeable” or “objectively foreseeable.”
2. Affirmative misuse against warnings can be used as a defense
C. Adequacy of the warning: these factors are to be used in a balancing test analysis
		i. The warning must adequately indicate the scope of danger
ii. The warning must reasonably communicate the extent or seriousness of the harm
iii. Physical aspects of the warning must be adequate to alert a reasonably prudent person to the danger
a. The longer a warning is, the less attention will pay attention to those that are actually important
iv. A simple directive warning may be inadequate when it fails to indicate the consequences that might result from failure to follow it
a. Warning on perm hair activator was found to be inadequate because the language was inadequate; it did not indicate that an explosion would occur; the stylist assumed it would cause damage to the customer’s scalp
v. The means to convey the warning must be adequate
vi. Hood v. Ryobi America Corp: court finds the warnings were clear and unambiguous; “serious injury” was enough of a warning
a. If can argue that the design was defective and therefore the warnings were inadequate for the foreseeable risk of how the product would actually be used
	D. Misuse
A. Defendant can use misuse as a defense, but sometimes he should warn against misuse
	i. Must warn against uses that are foreseeable
a. If the misuse is not reasonably or objectively foreseeable then the defendant will not be held liable
		B. Three ways misuse can be used
i. When a product is used in an unintended and unforeseeable manner
a. The product has no relevant defect and the plaintiff’s misuse was a superseding cause
	1. Complete defense
b. Proximate cause and the plaintiff’s misuse is a superseding cause
	1. Complete defense
c. Contributory negligence on the part of the plaintiff by his misuse
1. Not necessarily a complete defense if the plaintiff is found to be comparatively negligent
	E. Learned intermediary rule
i. The manufacturer has met his duty to warn by his conveyance of the warnings to the physician for prescribed drugs
		ii. Justifications
a. The physician is better situated to give warnings to the patient given knowledge and relationship to the patient
1. Doctor is in a better position to decide what is important to communicate to the patient given their idiosyncrasies
2. Patient is more likely to listen tot a doctor than read a warning
. Manufacturer may not be able to effectively communicate with the consumer, but a doctor can
b. Warnings may be too technical to be able to warn users
		iii. Exceptions
			a. Mass immunizations
				1. Here there exists no doctor-patient relationship
			b. FDA mandates warning to consumer
1. Edwards v. Basel Pharmaceuticals: here the defendant did warn the plaintiff directly, but there was a question as to the adequacy of the warning
2. The defendant cannot argue regulatory compliance because that is simply the minimum standard, not necessarily the legal standard
. This is simply a floor that manufacturers have to comply with but in order to determine liability the common law must be applied
			c. Defendant advertises directly to consumer
1. These are typically for a “well patient” and it is not a treatment decision, but a lifestyle choice
		iv. We still have this rule (to)…
			a. Protect manufacturers from liability
b. Because there are still drugs that are not advertised (i.e. amoxicillin)
c. Advertisements give warnings and people may soon tune them out due to over-advertising
	F. Hindsight v. Foresight
		i. Hindsight
a. Look at the product after the fact; after the harm has occurred
b. The manufacturer should have known about the danger
	1. Ex post approach
		ii. Foresight
a. Manufacturer should have known what was reasonably knowable at the time of manufacture
	1. Ex ante approach
b. Has a few qualifications
	1. BOP shifts to the defendant
	2. Held to the standard of an expert in the field
iii. Vassallo: court adopts the ex ante approach because they do not want to impose an incentive to conduct themselves in a manner that isn’t capable of being performed
iv. Beshada: court adopted a hindsight approach for asbestos exposure because of risk spreading, accident avoidance, and spreading administrative costs with efficient litigation
a. This case generated a tremendous amount of criticism because of the fairness argument on the side of the defendant; they could have not known of the potential for injury at the time of production and it was unfair to hold these defendants liable
v. Feldman: criticism argument in Beshada prevailed here; held that that holding was restricted to asbestos cases
		vi. Justifications for two different approaches
		vii. State of the art defense
a. The defendant can argue in foresight that they did all the tests available to the standard of an expert in the field
b. A complete defense
	G. Manufacturer’s duty to warn of latent defects
i. The seller knows or reasonably should know that the product poses a substantial risk of harm to persons or property
ii. Those who would benefit from the warning can be indentified and are likely unaware of the risk
iii. A warning can effectively be communicated to and acted upon by recipients
iv. That the “risk of harm is sufficiently great to justify the burden of providing a warning.”
VI. Defenses
	A. Comparative responsibility
i. Drafters of R.2d were concerned when a product was very defective and the plaintiff was only slightly negligent (this was pre-comparative negligence)
ii. Plaintiffs were not barred from recovery
	B. Assumption of the risk
		i. Could still be a complete defense
	C. State of the art
D. General Motors Corp. v. Sanchez: Keen had held for the idea that the plaintiff has no duty to detect a defect; legislation was passed that extended S/L; court finds that Keen is still good law, but given the comparative negligence statute another defense for the defendant is available
i. Consumers must act reasonably
ii. Holding defendants liable under all circumstances would defeat the purposes of S/L
a. The goal is to impose liability for things that manufacturers have control over
VII. Defective services
	A. Strict liability does not apply to services
		i. Courts have been reluctant to extend S/L beyond products
	B. Need to use a negligence theory for services
i. Royer v. Catholic Medical Center: court rejects a S/L approach because it was not simply the plaintiff seeking to purchase a prosthetic device, but rather obtain all of the services provided by the hospital
	a. There is a distinction between a seller and a service provider
1. If the seller is in the business of selling the good then a S/L theory will apply
2. If the sale of the product is merely incidental then S/L will not apply

Damages
I. In general
A. Goal of damages
i. To put the plaintiff back in the position was in before the victim suffered the injury the defendant committed
ii. Deterrence
iii. Punishment
	B. Decided by juries
		i. Can lead to arbitrary awards
		ii. Issues of fact
C. Major aspect of tort litigation
	i. About half
D. Combines probably the most technical aspect with experts
i. Economists have to testify to the calculation of damages that aren’t explicitly apparent on its face
ii. Interest rate and inflation rate will determine how much is awarded in the end
a. Inflation rate
1. If plaintiff is supposed to get a $100 for expenses a year from now, need to know the interest rate that will yield that amount a year from now
. The higher the inflation rate, the higher the interest rate
ß. Plaintiff will argue a lower interest rate so as to obtain more money now
∂. Defendant will argue a higher interest rate so as to give less money now
			2. Wages
. Plaintiff would argue a greater wage increase for inflation
ß. Defendant will argue not get a higher amount due to inflation
3. One proposal is that wage inflation will cancel out discount wage
. This allows no need to go through the calculations
ß. Would argue against because it is simply not accurate if one of them is very great; not reflective of reality
			b. Taxation
1. Personal injury damage award are generally not taxable
2. Punitive damages are taxable
3. Question whether juries should be informed of this
	E. Procedural features of damage awards
		i. Single judgment rule
			a. Plaintiff recovers only once from a single tort
				1. Can get over this hurdle by isolating injuries
			b. Plaintiff must come up with a number at one time
1. They are precluded from suing a defendant for subsequent injuries which can lead to very harsh effects
			c. Arguments in favor
				1. Repose for the defendant
2. Complications of factors as to cause of injury as time passes
3. Want to incentivize a speedy recovery for the plaintiff
4. Eliminates frivolous lawsuits
5. Otherwise could lead to overcompensation
6. Tortfeasor may later become insolvent or disappear
7. Administrative ease
		ii. Lump sun versus periodic payments
			a. Lump sum
1. Everything must be given in one number for present and future injuries
2. Administratively more efficient
3. Mostly used in courts
			b. Periodic payments
1. Courts should require periodic payments assuring that plaintiffs obtain only what they should in the future
II. Compensatory
	A. Economic damages
		i. Lost earnings, past and future
		ii. Medical expenses, past and future
iii. Seems straightforward, but can be complicated by plaintiff’s life expectancy, expected time would have worked, inflation rate, interest rates, taxes, and attorney’s fees (contingency fee)
	B. Non-economic damages
		i. “Intangible losses”
		ii. Pain and suffering, past and future
a. Physical pain derived from the trauma of the accident, medical treatment, rehabilitative process, etc.
b. Mental or psychological suffering that plaintiff feels because of his or her condition
c. Can be a very arbitrary number
1. Will be found to be inappropriate if the amount suggests passion prejudice or corruption on the part of the jury and that the amount shocks the conscience
2. Justifications
. A lot of the award goes to attorney’s fees 
ß. People generally take out insurance for certain costs, but there is no insurance for pain and suffering and therefore it is an additional cost that should be discounted
∂. People will pay to be free of pain and suffering
				3. Some courts have put caps in certain types of lawsuits
. Caps only achieve consistency and predictability when within these pockets of the law
I. And even then , it is only when it is high awards
iii. How should jury decide on an appropriate amount?
			a. Per diem arguments
				1. Arguments in favor
					. Jury needs some guidance
ß. It’s easy and efficient when trying to accomplish an arbitrary award
				2. Against
. The initial per diem amount is still an arbitrary number that is manipulable by the attorney
ß. Similar to Golden Rule rationale, courts are skeptical toward any kind of market measure used based on the sympathies of the jury
I. Might also be ambivalent because there is little economic studies that give an amount
			b. Prior awards
1. Seffert v. Los Angeles Transit Lines: Traynor’s dissent argues that consistency is important so as not to lead to arbitrary awards that are simply determined by the plaintiff’s counsel; suggests a 1:1 ratio for economic and non-economic damages
. Consistency allows a benchmark for future cases
	I. This may incentivize settlements
ß. Fairer for the defendant
∂. Deterrence: knowing the cost of what their actions will deter defendants from acting in such a way
I. But this could be used to rationalize injuries
			c. Golden Rule
1. Jurors are not allowed to put themselves in the shoes of the plaintiff
. This is too speculative as to what the plaintiff experienced
ß. Would create bias sympathy for the plaintiff
∂. Courts do not want juries deciding what amount they would accept to suffer the injury
		iv. Loss of enjoyment of life
			a. Complications
1. A distinct category?
. Argue that it is because it is an objective standard
I. It is an affirmative loss that can be calculated
II. It is the loss of the enjoyment of being alive and pursuing the kinds of activities the plaintiff is used to doing
ß. Would incentivize future defendants to act more carefully if the award would potentially be higher
∂. Argue that it is not a separate category because LOEL simply falls into the broad category of suffering
	I. Avoid duplication of awards
				2. What is the role of cognitive awareness?
. McDougald v. Garber: court finds that it is a prerequisite to recovery for loss of enjoyment of life because she is not suffering if she is not aware of the pain she is experiencing
ß. It is only necessary to have “some level” of awareness
∂. Argue that no cognitive awareness is required
I. Loss of awareness is also a loss of enjoyment of life or rather the loss of the ability to enjoy life
b. For the loss of the pleasure of being alive. Compensation for limitations on plaintiff’s ability to participate in and derive pleasure from the normal activities of daily life, or for the individual’s inability to pursue his interests
c. Account for the time before death
	C. Complicated by
		i. Life expectancy
		ii. Work life expectancy
		iii. Inflation
		iv. Interest rate
		v. Discount rate
		vi. Taxation
		vii. Lump sum v. periodic payments
		viii. Single judgment rule
		ix. Attorney’s fees
	D. Survival actions
		i. Estate sues on behalf of decedent
		ii. Accounts for the years after death that were lost due to the injury
	E. Wrongful death
		i. Decedent’s beneficiaries sue for their own losses
			a. Same sex partners bring up an issue
		ii. Limited to time alive
		iii. Anomaly with respect to children
a. Sue for pecuniary losses for what the child might have earned far out into the future
b. Argued that highly speculative
III. Punitive
	A. The purpose is to punish and deter
		i. There is moral outrage toward intentional conduct
ii. When compensatory damages are only nominal, punitive damages can fill that gap
a. Traditionally, intentional torts were the stimulus for punitive damages where there might have been small compensatory damages so it filled in the gap
1. Now, it is viewed more as filling in the gaps that are found in the criminal system
	B. Also called exemplary damages
	C. What type of conduct gives rise to punitive damages?
i. Cal. Civ. Code § 3294
a. (a) In an action for the breach of an obligation not arising from contract, where it is proven by clear and convincing evidence that the defendant has been guilty of oppression, fraud, or malice, the plaintiff, in addition to the actual damages, may recover damages for the sake of example and by way of punishing the defendant.
1. (c) As used in this section, the following definitions shall apply:
(1) “Malice” means conduct which is intended by the defendant to cause injury to the plaintiff or despicable conduct which is carried on by the defendant with a willful and conscious disregard of the rights or safety of others.
(2) “Oppression” means despicable conduct that subjects a person to cruel and unjust hardship in conscious disregard of that person’s rights.
(3) “Fraud” means an intentional misrepresentation, deceit, or concealment of a material fact known to the defendant with the intention on the part of the defendant of thereby depriving a person of property or legal rights or otherwise causing injury.
ii. Taylor v. Superior Court: court finds that any defendant who causes an accident while driving drunk could be subject to punitive damages; it includes gross negligence
a. Higher BOP: clear and convincing evidence for punitive damages
b. Concurrence believe not all drunk drivers should be held to this standard, but repeated DUIs should come into play
	D. Arguments against punitive damages awards
		i. Unjust enrichment
a. Defendant may argue that the plaintiff is already receiving sufficient compensation and this overcompensates
1. Some states have adopted a way of taking some of the award and apportioning that to the state so that the plaintiff does not receive a windfall
. If the jury knows of this, they may try to award greater damages
ß. This is the same as a criminal fine that goes to the state
∂. If the plaintiff is only getting 50% of their award then lawyers might be disincentivized to take such cases
b. Plaintiff would argue that the attorney is getting paid so much money that this makes up for it and there is no unjust enrichment
1. It shouldn’t matter if the plaintiff gets a windfall; the goal is to punish the defendant, not to compensate the plaintiff
		ii. Double punishment
			a. Particularly when there is a parallel criminal action
b. But with the higher BOP for criminal law, punitive damages may fill the gap when the defendant is not convicted
1. It is not over-deterring or over-punishing because criminal liability is not always enforced enough
		iii. Wealth of defendant
			a. This can make the jury biased
b. Counter with if it is not considered then the appropriate deterrence will not occur
		iv. Ineffective deterrent
			a. It is ineffective for the defendant that injures himself
1. No one wants to injure himself and such a risk should be deterrent enough
2. It might be unfair to a drunk driver who is completely insolvent
		v. Insurance
			a. Any kind of intentional tort is exempted from insurance
1. This argument seems to assume that all insurance coverage will be nullified, but this isn’t true if the plaintiff makes a claim of negligence
		vi. Comparative fault
a. If a plaintiff was also at fault then originally would not be able to be compared with punitive damages of the defendant
	1. Not true today, can compare the two
E. There are constitutional limits on the amount of punitive damages under the “Due Process” clause of the 14th Amendment
	i. Substantive due process
		a. An excessive award is a deprivation of property
	ii. Procedural due process
a. Was not given notice that he could be liable for such a high punishment
F. Gore guideposts: to review punitive damages awarded by juries
	i. Reprehensibility of conduct
		a. Use balancing factors
ii. Ratio of punitive damages to actual and potential compensatory damages
a. There is no right-line rule, but should not exceed a single-digit ratio (1:9)
1. When compensatory damages are nominal or the actions of the defendant are particularly egregious then perhaps a higher ratio is justified
iii. Sanctions for comparable conduct
IV. Insurance
	A. Good Faith Settlement
i. Insurance carriers have a duty of good faith and fair dealing to not expose their holders to amounts greater than policy limits
a. State Farm Mutual Automobile Insurance v. Campbell: defendant’s insurance company had an opportunity to settle for $50,000 but refused; went to the jury who returned a verdict for $185,000 for the plaintiff
	B. First party insurance
		i. Protecting oneself against one’s own losses
		ii. Collateral source rule
a. Where a plaintiff is compensated for his or her injuries by some source independent of the tortfeasor, the plaintiff is still entitled to full recovery against the tortfeasor
1. Rationale for this rule
. Tortfeasors do not receive a windfall
ß. Fairer to prudent plaintiffs who have invested in insurance over the years and they should receive the benefit of that bargain
				2. Critique: double compensation for the plaintiff
. But in reality, because of intangible costs associated with personal injuries and attorney’s fees it is arguably not even full compensation
			b. Is applicable to gifts
				1. Exceptions
. If the money is being given to the plaintiff for reasons other than their benefit, then the defendant can rebut that it should offset the damages for the plaintiff
ß. Governmental public benefits
I. May argue that the defendant is taxed and therefore would be paying double
II. We want plaintiffs to invest in their own safety to make up for their losses
A. This does not work in the context of governmental benefits
		iii. Subrogation
a. The right of the collateral source to recover what it has paid to the plaintiff when the plaintiff recovers in tort against the defendant
1. To prevent double recovery that is feared through the application of the collateral source rule
b. Collateral source = subrogee
c. Plaintiff = subrogor
d. Full subrogation
1. If a plaintiff is injured and the hospital bills are covered by the insurance company and the plaintiff does not sue the defendant
2. If the insurance company has the right to full subrogation, it can step in the shoes of the plaintiff and sue the defendant directly
			e. Implied subrogation
1. Frost: the insurer has no right to subrogation without an explicit provision
. Finds that isolation of medical costs is artificial
I. The plaintiff’s injuries must be looked at as a whole
II. There are intangible costs that are associated with personal injury that are not identifiable
III. The receipt of medical costs is illusory
2. Can be applied in policies that cover property damage
. The duty of indemnification and general liquidation suggests that property damage is certain, predictable, and predetermined
	I. This is not true of personal injury cases
			f. Settlement
				1. May prevent subrogation
. Plaintiff is not fully compensated by this lesser amount and it is therefore not fair for the insurance company to receive subrogation
		iv. Three possible uses of these two rules
			a. Collateral source rule with no subrogation
1. Arambula: plaintiff gets benefit from collateral source and from the tortfeasor and is able to keep both
2. Leads to a windfall for the insurance company since the plaintiff has been paying into it
			b. No collateral source rule
1. This would mean that subrogation would then not be available
2. The defendant would be able to offset the damage awards by the money already received
3. Problems with this result
	. Leads to a windfall for the defendant
	ß. Plaintiff does not receive full compensation
	∂. It “undeters”
			c. Collateral source rule with subrogation
1. Addresses the policy concerns that have been raised with respect to the collateral source rule
2. The defendant does not receive a windfall
3. Plaintiff does not receive double compensation because they have to reimburse the third party
4. Optimizes the compensation-deterrence goals of tort law
	C. Third party insurance
		i. Protecting oneself from liability against third parties

Alternatives to tort
I. Tort vs. Alternatives
	A. Tort
		i. Loss allocation based on moral perspective
		ii. Wrongful defendant vs. deserving plaintiff
	B. No fault alternatives
		i. Loss allocation based on social welfare perspective
ii. Has nothing to do with whether the defendant engaged in wrongful conduct
II. Workers’ Compensation
A. History
i. Industrialization led to an increase in injuries and the employees were unable to recover for these injuries due to defenses that the employer could raise
		a. Assumption of the risk
		b. Contributory negligence
	c. Fellow servant rule
1. Could not recover damages from employer is another employee had contributed to the injury
		ii. Now adopted in every jurisdiction
a. Allows employees to recover for injuries experience in the workplace
1. Unless there is an intentional tort at issue, the employee is unable to sue the employer directly for his injuries
2. Can be beneficial when employee would like to continue working for the employer, but still deserves compensation for his injury
	B. Compensable event
		i. “Arising out of” nexus, proving causation
			a. Some traumatic event must occur at work
	C. Measuring recovery
		i. Permanent partial disability
a. When there is a permanent physical loss, but the worker is still able to work
b. Difficult to determine the degree of injury worker experienced or the actual economic loss
	1. What should the amount of recovery reflect?
c. Worker’s compensation is intended to reflect tangible harm, but this does not reflect all of the harm that occurs form the permanent partial disability
		ii. Mental stress
			a. Area of a lot of litigation
b. Mental-physical: suffers a physical injury from the mental stress
c. Physical-mental: mental stress as a result of a worker’s physical injury
1. Easy claims are when there is a physical traumatic event that can be identified
d. Mental-mental: no physical impact; relates to work-related stress that then leads to mental stress
	1. Most difficult to adjudicate and most often rejected
		iii. Occupational disease
			a. Causation is the difficult issue here
b. Can be difficult to determine what the causal agent actually is and if there are external causes
c. Soft issue injuries
1. Injury from repetitive motions that over time lead to injury
2. Is it because of the work or because of activity outside of work?
	D. Third party defendant
i. Watching another worker injured on the worksite is barred from suing the employer and goes after the third-party manufacturer
	a. The worker can then pursue two claims
		1. Workers’ compensation
			. Immediate relief
2. Tort lawsuit against the third party manufacturer on a products liability theory
. Can then obtain P&S damages not available under workers’ compensation
ß. Subrogation: if the plaintiff receives damages from the third party manufacturer then would have to reimburse that to workers’ compensation
	E. Consistent with the goals of tort?
		i. Compensation
a. Perhaps a more efficient way of compensating individuals
b. Not fully compensated
		ii. Deterrence
a. Employers may be encouraged to provide safe working environments knowing they may have to spend out of pocket
b. May be an antideterrent in that employers will simply write it off as a business cost
	1. Simply pay insurance fee
	2. No stigma of lawsuit
III. Other No-Fault Compensation
	A. Auto Insurance
i. Does not require a showing of fault to recover from the insurance policy
a. Each party recovers from their own insurance companies regardless of who is at fault
ii. For: cannot always tell the nature of car accidents and don’t know who is actually at fault
a. Better if both parties are compensated rather than trying to blame someone who might not actually be at fault
iii. Against: encourages reckless driving; if get in an accident, it doesn’t matter, will be compensated
a. A fault based system always looks to see who is more liable and should pay more therefore want to drive more safely to avoid such liability
	B. Vaccine Injury Compensation Program
		i. Recently has come into the media
ii. Should we just go further and compensate anyone who is injured from pharmaceuticals?
	a. Have a problem with safety and deterrence
1. If the companies were not personally held liable then would not be incentivized to create safe products and they have a means to pay out
	C. September 11 Fund
i. Congress enacted a compensation scheme to provide monetary recovery to the victims of 9/11 and their families
a. Needed to leave intact the airlines that may have otherwise been found to be liable
ii. No cap was placed on the compensation
iii. Something of this scale had never been done before and has not been done since
a. Had a national psychological factor that has not been repeated
b. It was a one time, extreme circumstance
c. Was a signal that the government was taking the situation seriously
		iv. Were questions of inequality with this fund
a. Those that had worked at a lesser salary were compensated with less
	1. But mirrors how it would work in a court of law
		v. Deterrence did not exist
			a. Post-fact fund
b. The taxpayers are the ones paying this and they are not the tortfeasors






